National Testing Agency

60 Buddhist Jaina Gandhian and Peace
Studies 07th DEC 2023 Shift 2

Question Paper Name:

60 Buddhist Jaina Gandhian and Peace
Subject Name :

Studies
Creation Date : 2023-12-08 11:39:10
Duration : 180
Total Marks: 300
Display Marks: Yes

Buddhist,Jaina,Gandhian and Peace Studies and General

Paper

Group Number: 1

Group Id : 878270391
Group Maximum Duration : 0

Group Minimum Duration : 180
Show Attended Group?: No

Edit Attended Group?: No

Break time: 0

Group Marks : 300

Is this Group for Examiner?: No
Examiner permission : Cant View

Show Progress Bar?: No



General Paper

Section Id : 878270736
Section Number : 1

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701107
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025399 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension



The following table shows the number of buildings constructed in six different towns A - F of a
state S over the seven years from 2016-2022. Based on the data in the table, answer the questions
that follow.

Town-wise Details of Buildings Constructed.

Yeart o6 o0t | 2018 | 2019 | 020 | 2001 | 2022

Town
A 13000 | 3160 | 3220 | 5272 | 3300 | 3320 | 3400

2500 | 2568 | 2640 | 2670 | 2792 | 2600 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
5448 | 3500 | 3600 | 3640 | 3664 | 3760 | 3792
2040 | 2100 | 2200 | 2230 | 2320 | 2350 | 2580
2277 | 2380 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Across the state 5, the total number of buildings constructed in 2016 is approximately
% of the total number of buildings constructed in 2018 ?

1) 81
2
3
4
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Options :
878270100241. 1
878270100242. 2
878270100243. 3

878270100244. 4

Question Number : 2 Question Id : 87827025401 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of buildings constructed in Town B over all the seven years ?
(1) 17870

) 18780
) 17780
) 18870

Options :
878270100245. 1
878270100246. 2

878270100247. 3

878270100248. 4

Question Number : 3 Question Id : 87827025402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of buildings constructed in Town D in 2018 with
teference to the previous year ?

(1) 38 %
Q) 285 %
B) 48 %
@) 4%
Options :

878270100249. 1
878270100250. 2
878270100251. 3

878270100252. 4

Question Number : 4 Question Id : 87827025403 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[n the context of towns E and F together, what is the difference between the number of buildings
constructed in 2021 and that in 2017 ?

(1) 630

2) 830
3) 430
4) 410
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Options :

878270100253. 1
878270100254. 2
878270100255. 3
878270100256. 4

Question Number : 5 Question Id : 87827025404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Total number of buildings constructed over the years from 2020 to 2022 is more than 8500 in
exactly towns,

(1)
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3
4
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Options:

878270100257. 1
878270100258. 2
878270100259. 3
878270100260. 4

Question Id : 87827025399 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

3000 | 3160 | 5220 | 3272 | 3300 | 3320 | 3400
2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 5100 | 3192 | 3200 | 3263
3448 | 3500 | 3600 | 3640 | 3604 | 3760 | 3792
2040 | 2100 | 2200 | 2250 | 2320 | 2550 | 2380
2072 | 2580 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T W, 2016 H R s 1 et e 2018  F40 ) ot S ) o el W (%) 27
1) 81

Q) %
B) 84
(4) 74

Options :
878270100241. 1
878270100242. 2

878270100243. 3



878270100244. 4

Question Number : 2 Question Id : 87827025401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR B H 9 guf # fafta weHl &l Fe1 den fha 22

(1) 17870

(2) 18780
(3) 17780
(4) 18870
Options :

878270100245. 1
878270100246. 2
878270100247. 3

878270100248. 4

Question Number : 3 Question Id : 87827025402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

TR D ¥ 2018 ¥ fAfifa s 1 wen # e o it qorn o e wiown 9fg g 87
(1) 385%
(2) 285 %
(3) 485 %
4) 4%
Options:
878270100249. 1
878270100250. 2
878270100251. 3

878270100252. 4



Question Number : 4 Question Id : 87827025403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100253. 1
878270100254. 2
878270100255. 3

878270100256. 4

Question Number : 5 Question Id : 87827025404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100257. 1
878270100258. 2
878270100259. 3

878270100260. 4



Sub-Section Number : 2

Sub-Section Id : 8782701108
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 87827025405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which collaborative ICT tool allows user to create digital bulletin boards to share and gather
information ?

(1) X-mind
(2) Padlet

(3)  Book creator
(4) Plotagon
Options:
878270100261. 1
878270100262. 2
878270100263. 3

878270100264. 4

Question Number : 6 Question Id : 87827025405 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100261. 1
878270100262. 2
878270100263. 3
878270100264. 4

Question Number : 7 Question Id : 87827025406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : - In Round-Robin cooperative learning strategy, students work together to achieve
a common goal or complete a task,

Statement (I1) : In group investigation cooperative learning strategy, students take turns sharing
their ideas, thoughts or solutions within their group.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(
3
4

) Both Statement I and Statement II are incorrect
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options :
878270100265. 1
878270100266. 2



878270100267. 3
878270100268. 4

Question Number : 7 Question Id : 87827025406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100265. 1

878270100266. 2

878270100267. 3

878270100268. 4

Question Number : 8 Question Id : 87827025407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha channel (7 - Kautilya is related to which of the following subjects ?
A)  Economics

B) Library Science

D) Finance

E) Mathematics

Choose the correct answer from the options given below :
(1) (B), (D)and (E) Only

(2) (C)and (E) Only

(3) (A), (C) and (D) Only

) (8) () and (D) Only

Options:

(
(
(C) Commerce
(
(

878270100269. 1
878270100270. 2
878270100271. 3
878270100272. 4

Question Number : 8 Question Id : 87827025407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(4) @9 (B), (C) ¥R (D)
Options :

878270100269. 1

878270100270. 2

878270100271. 3
878270100272. 4

Question Number : 9 Question Id : 87827025408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n which strategy of cooperative learning, students are separated into an inner and outer circle
(In the inner circle, students have a discussion and students in the outer circle Listen to the
discussion) ?

(1) Snow ball

(2) Fishbowl

(3) Jigsaw

(4)  Think-pair-share

Options :



878270100273. 1
878270100274. 2
878270100275. 3

878270100276. 4

Question Number : 9 Question Id : 87827025408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100273. 1
878270100274. 2
878270100275. 3

878270100276. 4

Question Number : 10 Question Id : 87827025409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of Information Development Model ?
A)  Self Awareness Model

B) Gagne's Information Model

D) Schuman’s Model

(

(

(C) Jerome Bruner's Model

(

(E)  Group Investigation Model

Choose the correct answer from the options given below :
(1) (A) (D) and (E) Only

(2) (B)and (D) Only
) (B), (C) and (D) Only
(4) (A), (C) and (E) Only
Options:

878270100277. 1
878270100278. 2
878270100279. 3
878270100280. 4

Question Number : 10 Question Id : 87827025409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100277. 1
878270100278. 2
878270100279. 3

878270100280. 4

Question Number : 11 Question Id : 87827025410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The process of deduction involves drawing generalizable inferences out of
observations.

Statement (II) : Positivism advocates the application of the methods of the natural sciences to the
study of social reality.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

(
3
4

] Both Statement I and Statement II are incorrect
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

878270100281. 1
878270100282. 2
878270100283. 3

878270100284. 4

Question Number : 11 Question Id : 87827025410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100281. 1
878270100282. 2
878270100283. 3

878270100284. 4

Question Number : 12 Question Id : 87827025411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the threats to the internal validity of an investigation :
(A) History

(B) Instrumentation

(C) Maturation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B)and (C)
Options:

878270100285. 1
878270100286. 2
878270100287. 3

878270100288. 4

Question Number : 12 Question Id : 87827025411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fordt ST <hl SATafiep derdT o 9id @adl ol 98 = iy ;
(A) Ffae™

(B) HTEFTRIUT (3ZHTA)

(C) YRgFH

== feu e fasredl § 9 WEr S F1 944 hif9C

(1) e (A) 3R (B)

(2) wad (B) R (O)

(3) I (A) 3R (C)

(4) (A), (B) 3R (O)

2

Options:

878270100285. 1
878270100286. 2
878270100287. 3

878270100288. 4

Question Number : 13 Question Id : 87827025412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Pearson's coefficient of correlation r' is a very useful measure of the strength and
direction of the relationship between two nominal variables.

Statement (I1) : Pearson’s coefficient of correlation ‘1’ always lies between 0 and 1.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

878270100289. 1
878270100290. 2
878270100291. 3
878270100292. 4

Question Number : 13 Question Id : 87827025412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100289. 1
878270100290. 2
878270100291. 3
878270100292. 4

Question Number : 14 Question Id : 87827025413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following refers toa method of sampling in which a core group of participants who
are initially sampled for a research study recruit or recommend other potential participants ?

(1) Simple random sampling

(2) Snowball sampling

(3) Quota sampling

(4) Stratified random sampling
Options :
878270100293. 1
878270100294 2
878270100295. 3

878270100296. 4

Question Number : 14 Question Id : 87827025413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100293. 1
878270100294. 2
878270100295. 3
878270100296. 4

Question Number : 15 Question Id : 87827025414 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  According to UGC regulations 2018 on Prevention of Plagiarism, a student is
tequired to give anundertaking while submitting a thesis, stating that the document
is his/her original work which is free from any plagiarism.

Statement (1) : According to UGC Regulations 2018 on Prevention of Plagiarism, the research
supervisor is not required to certify that the work done by the researcher under
himy/her is plagiarism free.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

3

(4

) Both Statement I and Statement II are incorrect
) Statement I is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options :

878270100297. 1
878270100298. 2
878270100299. 3
878270100300. 4

Question Number : 15 Question Id : 87827025414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100297. 1
878270100298. 2
878270100299. 3
878270100300. 4

Question Number : 16 Question Id : 87827025415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In conversations, relevancy maxim means rnaking :

(1) Metaphoric remarks

(2) Allusions

(3) Pertinent comments

(4) Rudimentary comments

Options :
878270100301. 1
878270100302. 2



878270100303. 3

878270100304. 4

Question Number : 16 Question Id : 87827025415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270100301. 1
878270100302. 2

878270100303. 3

878270100304. 4

Question Number : 17 Question Id : 87827025416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Failure to understand the cultural environment can lead to :
(1) Information richness
2

(2)  Exhibitionism
(3) High-brow communication
(4)

4 Miscommunication
Options :
878270100305. 1

878270100306. 2



878270100307. 3
878270100308. 4

Question Number : 17 Question Id : 87827025416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100305. 1
878270100306. 2
878270100307. 3

878270100308. 4

Question Number : 18 Question Id : 87827025417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Buddhist mode of inter-personal communication emphasises :
A) Unfettered use of language

(

(B) Unintelligible moral frames

(C) Symmetrical relations

(D) Consensus through interaction

(E) Verifiability of communication

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Onl

(4) (A), (B) and (E) Dnly,r
Options:

878270100309. 1
878270100310. 2
878270100311. 3

878270100312. 4

Question Number : 18 Question Id : 87827025417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100309. 1
878270100310. 2
878270100311. 3

878270100312. 4

Question Number : 19 Question Id : 87827025418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : Paralinguistic features express emotions and communicate personality traits.

Statement (1) : The subtle use of vocal inflections can provide special significance to verbal
Messages.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

878270100313. 1
878270100314. 2
878270100315. 3
878270100316. 4

Question Number : 19 Question Id : 87827025418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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KU (1) : Ao TR o forseqm) i wifier 5wl 41 fadhy wea ¢ 9ok €
T e o it W, el feu U el 9 Warw UG F A A I
(1) FOAT S0 FOR 1S 7 2

(2) IR Ko 1 G Terd &

(3) FUTIHEI 2, i o 17T &

(4) TR 2, W Fo 11961 ¢

Options :



878270100313. 1
878270100314. 2
878270100315. 3

878270100316. 4

Question Number : 20 Question Id : 87827025419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - II.
List - I List - II
(Type of meta communications) ~ (Description/Example)

(A) Explicit () Anaggressive gesture modified with a smile

(B) Implicit () Comments on others communication behaviour
(C) Verbal () Sarcastic remarks

(D) Non-verbal (IV) Comments about non-verbal behaviour

Choose the correct answer from the options given below :

(1) (AH), (BHID, (CH{I), (DHIV)

(2) (AL, (B-{IID), (CHIV), (D)D)
(3) (AR, (B)-1V), (G0, (DKL)
(&) (AFV), (B}, (), (D))
Options :

878270100317. 1
878270100318. 2
878270100319. 3

878270100320. 4

Question Number : 20 Question Id : 87827025419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o WY Gell-11 &1 foer i .

Toit-1 -1
(fy-wywor o bW ) (0T )

(A) TR () e & T adell T Uk S S
(B) dfifed () 571 T o FYo 7R R fewfir

(©) ?nfﬁaa (I11) S Sferat

(D) TR-mfee (V) TR-ufeceh e o ai H feofral

19 feu T forehedl & § WE I A1 T HIC

(1) (A}, (B)-(I), (CHII, (D}IV)

(2)  (A)ID), (B)-(ImI), (C)-(IV), (D)-(T

(3)  (A)-(IID), (B)-(IV), (O)-(T), (D)-(I)

(4)  (A)(IV), (B)-(D), (O, (D)-(m)

Options :

878270100317. 1
878270100318. 2
878270100319. 3

878270100320. 4

Question Number : 21 Question Id : 87827025420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A milkman buys 20 litres of milk from a dairy at the cost of Rs. 50 per litre, He also purchases some
mineral water at the rate of Rs 20 per litre and adds it to the milk. He then sells the adulterated

milk at the rate of Rs 60 per litre and makes a profit of Rs 400. What is the amount of water he
added to the milk ?

(1) 10litre
() 8litre
(3) 5 litre
(4) 4 litre



Options :

878270100321. 1
878270100322. 2
878270100323. 3
878270100324. 4

Question Number : 21 Question Id : 87827025420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e <A % 50 YT el o e § 20 it g e 2| 9 €20 W et &l < ¥ o e
i ¥ e & o g8 gt o o & €1 Ao o 91 %60 W i < 9 o R 2400 T
St e | S 3 ot e W o e o)

10 et

Options:

878270100321. 1
878270100322. 2
878270100323. 3
878270100324. 4

Question Number : 22 Question Id : 87827025421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of letters which will complete the following letter series.
aabcd - - - bedbe - - - dedab - - -

(1) abaabcedd
(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options:

878270100325. 1
878270100326. 2
878270100327. 3

878270100328. 4

Question Number : 22 Question Id : 87827025421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
firet 1em e &1 qof e o foTu S1eRi & & STHY 1 A e

aabed - - - bedbe - - - dedab - - -
(1) abaabcedd

(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options :
878270100325. 1
878270100326. 2
878270100327. 3

878270100328. 4

Question Number : 23 Question Id : 87827025422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Total monthly salary of a couple (husband and wife) is ¥ 2.0 lakh. Their salaries are in the ratio of
5:3. It husband and wife spend 40 % and 20 % of their salaries, respectively, what is the ratio of
their savings ?

() 3:2

(2] i
(3) 5:4
( 1

2 1 O

4
Options :

878270100329. 1
878270100330. 2
878270100331. 3

878270100332. 4

Question Number : 23 Question Id : 87827025422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e T 24 (1 & ) ) o Tk 70 2 2.0 0 €1 3766 e o1 79 5:3 21 e ol & o
S-S0 7 1 O 40 % 920 % 5P R 8 ) IR 9 4 9 N €7

1) 3:
Q) 5
3

4

5T B R |

o

)
) 54
)

e B & 5 |

Options :

878270100329. 1
878270100330. 2
878270100331. 3

878270100332. 4

Question Number : 24 Question Id : 87827025423 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme :

‘Family values are important’ is written as “pa, ya, si, sa’
"Values are generally contagious’ is written as “ya, da, ja, sa’
‘Some diseases are mntagious’ is written as ‘ka, da, sa, ro’
What are the codes for ‘Contagious’ and “Values' ?

(1) da, sa

(2) da, si
(3) ka, ya
(4) da, ya
Options :

878270100333. 1
878270100334. 2
878270100335. 3

878270100336. 4

Question Number : 24 Question Id : 87827025423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e @hiH 1,

“iftenfier ge mecyt € w1, W % w9 for 9w g
"I WG |G & 1, 1 S, 91 ok w9 H foran S e,
‘o T wighies & 1, @, 9@, ' % w9 foran g,
‘wigfie’ @ ‘gea’ & foau 1 | 2§72

(1) @,
(2) <, 4
(3) A
(4) @, @
Options :

878270100333. 1
878270100334. 2
878270100335. 3

878270100336. 4

Question Number : 25 Question Id : 87827025424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the next term in the fu::llc:-wing number series ?
o Tl 0. B P e

(1) 176
(2) 155
(3) 142
(4) 186

Options :

878270100337. 1
878270100338. 2
878270100339. 3
878270100340. 4



Question Number : 25 Question Id : 87827025424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

= sier SjEen § 376 Ug hiF 91§ 7
3,14, 39, 84, ?, - -

(1) 176
(2) 155
(3) 142
(4) 186

Options :

878270100337. 1
878270100338. 2
878270100339. 3
878270100340. 4

Question Number : 26 Question Id : 87827025425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of increasing denotation ?

(1) Cow, bovine, mammal, vertebrate, animal

2)  Mammal, Vertebrate, bovine, amimal, cow

(2)
(3) Vertebrate, animal, mammal, bovine, cow
(4)

Animal, Vertebrate, mammal, bovine, cow
Options:

878270100341. 1

878270100342. 2

878270100343. 3

878270100344. 4



Question Number : 26 Question Id : 87827025425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frreferfen o 9 M 91 AR (e gU) T % SHe | iR 2
(1) T, TSI, SO, Feh, 79
(2) EITRH, HERT, ST, T, T
(3)  RITERI, I, YR, ST, T
(4) T, RO, WY, TSI, T
Options :
878270100341. 1
878270100342. 2
878270100343. 3

878270100344. 4

Question Number : 27 Question Id : 87827025426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () :  Truth and falsehood are attributes of individual propositions.
Statement (I1) : Validity can be attributed to any single proposition by itself.

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
(4) Statement Iis incorrect but Statement I is correct

Options:



878270100345. 1
878270100346. 2
878270100347. 3

878270100348. 4

Question Number : 27 Question Id : 87827025426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu U g

T (1) : T U6 7 e Yiewtad & €

oM (1) : 3w B @ el ft ook ot o o 2 e €

IR Y o Sf1clh H, el T 70 foehedi o § Hore SR ST ol 9 I
1) HUI R W I SH 08

2) O I SR O 11 S e ¢

3) HUTIWEI &, cifeh Y 11 Terd &

4) HYTITRH ¢, W Ho 11 H &

(
(
(
(
Options :

878270100345, 1
878270100346. 2

878270100347. 3

878270100348. 4

Question Number : 28 Question Id : 87827025427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which fallacy is committed in the following argument ?

“The universe must be spherical in form because all its constituent parts are spherical in form” ?
(1) Circular argument
(2) Red herring
(3) Slippery slope
¢

4) - Fallacy of composition

Options:

878270100349. 1
878270100350. 2
878270100351. 3

878270100352. 4

Question Number : 28 Question Id : 87827025427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frettan 7 % B 1 - T ¢ - e H e TR & <10 i 3066 94 e &
R e

Options :

878270100349. 1
878270100350. 2
878270100351. 3
878270100352. 4

Question Number : 29 Question Id : 87827025428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The statement - “Pradeep’s mind is a cave : deep, dark and full of bats” is an
analogy which is only descriptive in nature.

Statement (II) : The statement - “Pradeep’s mind is a cave ; deep, dark and full of bats” is an
analogy which confains an argument,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

) Both Statement I and Statement II are incorrect
3)  Statement [ is correct but Statement I1 is incorrect
)

(
(
4

Statement I is incorrect but Statement II is correct
Options :

878270100353. 1

878270100354 2

878270100355. 3

878270100356. 4

Question Number : 29 Question Id : 87827025428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

H () T, T, SR 0 T QR T ¢ 9% R TGV €
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O (11): "W 1 T, TR, SHE 90 TS N o 7 T € 1" 7 R WewAr & for
e fiefem

TR % el H, 77 0 70 Foereet o 9 T a1 90 1 9

(1) FRIERFRTH T2

(2) FORER B G T €

() HRIT & o TR0 ¢

(&) FERITR &, o R &

Options :

878270100353. 1
878270100354. 2
878270100355. 3
878270100356. 4

Question Number : 30 Question Id : 87827025429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : Nyaya syllogism has three propositions
Statement (I1) : Aristotelian syllogism has five propositions

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
g

4)  Statement I s incorrect but Statement II is correct



Options :

878270100357. 1
878270100358. 2
878270100359. 3
878270100360. 4

Question Number : 30 Question Id : 87827025429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At 3 e feu MU g

®UF (1) : AHEH 2§ A vt g €

oM (1) : SIS e H vy 2 €|

IR F4 % e H, Al 500 foehedi § | Ward e I A T HIC

(1) eI S et 11 3 T &
(2) o1 SR B 11 G Terd ¢
(3) YRR 2, elfer B 11 7erd ¢
(4) IR &, i Fo I H &
Options :

878270100357. 1
878270100358. 2
878270100359. 3

878270100360. 4

Question Number : 31 Question Id : 87827025430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an online store house of all academic awards like certificates, diplomas,
degrees, marksheets etc. ?

(1) SWAYAM

(2) National Digital Library
(

(

)
3) National Academic Library
)

4)  National Academic Depository

Options:

878270100361. 1
878270100362. 2
878270100363. 3

878270100364. 4

Question Number : 31 Question Id : 87827025430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Foes 9 8 oo o, fevcon, T, e, o 0 e e, el 1 T e e
Tt

(1) (T 3] U L)
() TER a0 T

(3) T SRS R
(4) T T FRATTT
Options :
878270100361. 1
878270100362. 2
878270100363. 3
878270100364. 4

Question Number : 32 Question Id : 87827025431 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[dentify the correct sequence of the missing nits of data A-D that can be used to represent the size
of a file, as it changes in size. The units of data increase in size from smallest to largest as given
below.

bit

tera Byte (TB)
(A) byte
(B) gigabyte (GB)
(C) megabyte (MB)
(D) nibble
Choose the correct answer from the options given below :
(1) (O (A) (€ 6)

Q) (4., ), ()
(3) (D) (4) ), (C)
(4 (4).0) (€, B
Options :

878270100365. 1
878270100366. 2
878270100367. 3
878270100368. 4

Question Number : 32 Question Id : 87827025431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100365. 1
878270100366. 2
878270100367. 3

878270100368. 4

Question Number : 33 Question Id : 87827025432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : Wiki is usually represented in reverse chronological order, whereas blog has a
structure determined by content and users.

Statement (I1) : Blog is usually personal/someone’s opinion, whereas a wiki is usually objective.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement 115 incorrect but Statement I1 is correct

Options:

878270100369. 1
878270100370. 2
878270100371. 3
878270100372. 4

Question Number : 33 Question Id : 87827025432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100369. 1
878270100370. 2
878270100371. 3

878270100372. 4

Question Number : 34 Question Id : 87827025433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements A-E about firewalls in computer networks are true ?
) Firewalls are only available as hardware devices and only examine traffic entering a network,

B) Firewalls allow a user to set rules for network traffic.

D) Firewalls backup all data that is transmitted around a network.

(A

(

(C) TFirewalls will automatically stop all malicious trafic.

(

(E) Firewalls can be used to block access to certain websites.

Choose the correct answer from the options given below :
1) @) O ()Only

(2 (B)and (£} Onl

() (@) 0)and [ )ODIY
(4) (A)and (C) Only
Options:
878270100373. 1
878270100374. 2
878270100375. 3
878270100376. 4

Question Number : 34 Question Id : 87827025433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (4) (C) 3 (0
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Options:

(
(
(
(

878270100373. 1
878270100374. 2
878270100375. 3

878270100376. 4

Question Number : 35 Question Id : 87827025434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List- 11
(Automatic data capture method)  (Description)

(A) OCR ()  System that reads pencil or pen marks on a piece of
paper in pre-determined positions

(B) OMR () System that reads characters printed in a special ink,
for example, the characters written at the bottom of
Bank cheque

(C) RFD (M) Reading data directly from hard copy and
converting into computer-readable form

(D) MICR (IV) Use of minute-electronic devices (containing
mictochip and antenna) that can read from distances
upto few minutes

Choose the correct answer from the options given below :

(1) (AHD, (3K, (-, (M)

(@) (A, BHI), (CH), D)

3) (AW, (B4, (CHIV), DK

[4) (AHV), (M, CHD, DK

Options :

878270100377. 1
878270100378. 2
878270100379. 3

878270100380. 4

Question Number : 35 Question Id : 87827025434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A-{D), (BK{I), (C-{I, (DHIV)

(2) (AHI), (B-IV), (CHI, (DH()

(3) (KT, (B}, (CHIV), (DHT)

(4 (AHIV), (BM{ID, (C)(D) (DM{I)

Options:

878270100377. 1
878270100378. 2
878270100379. 3

878270100380. 4

Question Number : 36 Question Id : 87827025435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The absence of fluoride in drinking water causes tooth decay.

Statement (I1) : Absence of fluoride in drinking water causes mottling of teeth also known as
dental fluorosis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

878270100381. 1
878270100382. 2
878270100383. 3
878270100384. 4

Question Number : 36 Question Id : 87827025435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100381. 1
878270100382. 2
878270100383. 3

878270100384. 4

Question Number : 37 Question Id : 87827025436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  Under Montreal protocol developed and developing nations have differentiated
responsibilities,

Statement (1) : Under Kigali amendment of Montreal protocol, ChloroFhuoroCarbons (CFCs) and
HydroChloroFluoroCarbons (HCFCs) were to be phased out.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct
2

3
4

Both Statement I and Statement II are incorrect

)
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

(
(
(
Options:

878270100385. 1
878270100386. 2
878270100387. 3

878270100388. 4

Question Number : 37 Question Id : 87827025436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100385. 1
878270100386. 2
878270100387. 3

878270100388. 4

Question Number : 38 Question Id : 87827025437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Naturally occurring Volatile Organic Compounds (VOCs) generally oxidize to
form Carbonmonoxide (CO) and Carbondioxide (CO,)

Statement (I1) : Anthropogenically emitted VOCs play an important role in the formation of smog

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

878270100389. 1
878270100390. 2
878270100391. 3
878270100392. 4

Question Number : 38 Question Id : 87827025437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100389. 1

878270100390. 2

878270100391. 3

878270100392. 4

Question Number : 39 Question Id : 87827025438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following gases has the maximum contribution to Global Warming ?
(1)  Chlorofluorocarbons (CECs)

(2) Methane (CH,)

(3) Sulfur Hexa fluoride (SF)

(4)  Carbon dioxide (CO,)

Options :

878270100393. 1

878270100394 2

878270100395. 3

878270100396. 4

Question Number : 39 Question Id : 87827025438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafed 9 9 forg 19 =1 AR afveas v | Faifues € 2
(1) FARREEA (9 T )
(2) e (CH,)
(3) HOHL T FANEE (SF)
(4) FHEA SEAFES (CO,)
Options :
878270100393. 1
878270100394. 2

878270100395. 3

878270100396. 4

Question Number : 40 Question Id : 87827025439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following are true about Persistent Organic Pollutants (POPs) ?
A) They are extremely widespread and occur from tropics to Arctic.

B) They often accumulate in food webs and reach toxic concentrations.

D) They are widely used as flame retardants and in deodrants.

(

(

(C) Volatile Organjc Compounds (VOCs) are examples of POPs,
(

E

—

Some chemicals used in making non-stick, waterproof and stain-resistant products are
categorized ag POPs,

Choose the correct answer from the options given below :
(1) (A)(B) (C)and (D) OIﬂY

(2) (), (€), (D) and (E) Onl
(3) (&), (B), (D) end (£ )Onlv
(4 (4), (C)and (E) Onl
Options :

878270100397. 1
878270100398. 2
878270100399. 3

878270100400. 4

Question Number : 40 Question Id : 87827025439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100397. 1
878270100398. 2
878270100399. 3
878270100400. 4

Question Number : 41 Question Id : 87827025440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hindu College in Banares set up by Annie Besant before Independence proposed to impart
(1) Physical education

(2) Religious and moral education

(3) Western education

(4) Medical education

Options :

878270100401. 1



878270100402. 2
878270100403. 3

878270100404. 4

Question Number : 41 Question Id : 87827025440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100401. 1
878270100402. 2
878270100403. 3
878270100404. 4

Question Number : 42 Question Id : 87827025441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Universities was the largest in the initial years of Lord Curzon's regime ?
(1) Calcutta

(2) Madras
(3) Bombay
(4)  Punjab

Options:

878270100405. 1



878270100406. 2
878270100407. 3

878270100408. 4

Question Number : 42 Question Id : 87827025441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270100405. 1
878270100406. 2

878270100407. 3
878270100408. 4

Question Number : 43 Question Id : 87827025442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were the recommendations of the first educational conference held at
Shimla in 1901 ?

A)  Appointment of only Indians as Vice-Chancellors of Indian Universities
B) Importance to teaching and research in Sanskrit

(
(
(C) A thorough reform of Indian Universities
(D) Appointment of a Director-General of Indian education
(E) Co-ordination of rules for examinations

Choose the correct answer from the options given below :

(1) (A) (B and (C)Only

2) () (C)and (D) Only

(3) (C), (D) and (E) Only

4 (4) () and 5 Ol

Options :

878270100409. 1
878270100410. 2
878270100411. 3

878270100412. 4

Question Number : 43 Question Id : 87827025442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701004009. 1
878270100410. 2

878270100411. 3

878270100412. 4

Question Number : 44 Question Id : 87827025443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the administrative reforms in universities suggested by the National
Knowledge Commission ?

(A) Appointment of vice-chancellors based on their academic and administrative credentials
(B) De-politicisation of appointments

(C) Centralised control of universities

(D) Restrictions on academic freedom

(E) Creation of a good research environment

Choose the correct answer from the options given below :

(1) (4) (3)and (O Only

(2) (3 (C)and D) Only

(3) (C),(D)and E )Onlv

[4) (4) ) and (5 Ol

Options :

878270100413. 1
878270100414. 2
878270100415. 3

878270100416. 4

Question Number : 44 Question Id : 87827025443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100413. 1
878270100414. 2
878270100415. 3

878270100416. 4

Question Number : 45 Question Id : 87827025444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The monastery of Vikramasila, possessed a University with six colleges.

Statement (1) : Vikramasila was a well-known centre of Tantric Buddhism and attracted students
from other countries,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

878270100417.1
878270100418. 2
878270100419. 3

878270100420. 4

Question Number : 45 Question Id : 87827025444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100417. 1
878270100418. 2
878270100419. 3
878270100420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701109
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025445 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Bharat, the country of historical values and sentiments overflowing with cultures and religions,
changes with every mile, but is still known for preserving its rich cultural heritage. Moving towards
global tourism, the ministry of ports, shipping and waterways recently created an experience for people
that brought forth the historical, cultural and religious significance of our rivers, In January and February,
the global tourism and cruise sector was abuzz with the news of the world's longest river cruise MV
Ganga Vilas. The cruise covered nearly 32,000 K over 51 days, crossing 27 rivers systems across five
states and two countries, via the Ganga-Brahmaputra river system. Starting from the heart of Uttar
pradesh in Varanasi to Dibrugarh in Assam, it had several stops and visits to nearly 50 locations,

The Act East Policy of Prime Minister Narendra Modi and the focus on developing the national
waterways made this historic voyage a reality. It was also a true demonstration of Atmanirbhar Blarat
(self reliant India) with a domestically manufactured vessel, a fully Indian crew, Indian decor, Indian
cuisine, Indian art and craft, and products being showcased. The vessel with a zero-discharge policy
also used the Indian Oil Corporation manufactured green fuel with the Dolphin Deterrent Device.

Sub questions

Question Number : 46 Question Id : 87827025446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The following are true about the country Bharat :
(A) It does not preserve its cultural heritage.
(B) It is overflowing with cultures.
(C) It does not have a variety of religions.
(D) It is a country of historical values.
Choose the correct answer from the options given below :
(1) (&), (B) and (C) Only
(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options :
878270100421. 1
878270100422. 2
878270100423 3
878270100424. 4

Question Number : 47 Question Id : 87827025447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about M V Ganga Vilas ?
(1) Itis a tourist spot.

2)

(3) Itis world’s longest reiver cruise.

(4) It covered nearly 32,000 Km over 27 days

It started from Haridwar.

Options:
878270100425. 1
878270100426. 2

878270100427. 3



878270100428. 4

Question Number : 48 Question Id : 87827025448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

M V Ganga Vilas is a true demonstration of self-reliant India because :
(A) The decor is done by Indian designers.

(B) It serves both Indian and Western cuisine.

(C) It showcases Indian arts and crafts.

(D) It is operated by an all Indian crew.

Choose the correct answer from the options given below :

(I) (A)and (B) Only

) (&), (), (C) and (D)
) (4), (C) and (D) Only
) |

(
3
(4)  (B), (C) and (D) Only

4
Options :

878270100429. 1
878270100430. 2
878270100431.3

878270100432. 4

Question Number : 49 Question Id : 87827025449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
“This historic voyage” refers to :
(1) Global tourism

(2) Act East Policy of Prime Minister Narendra Modi
(3) MV Ganga Vilas cruise

(4) Development of National waterways



Options :

878270100433. 1
878270100434. 2
878270100435. 3
878270100436. 4

Question Number : 50 Question Id : 87827025450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : MV Ganga Vilas is an environment friendly vessel.
Statement (IT) : MV Ganga Vilas is not indigenously manufactured vessel

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I s correct but Statement I 15 incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II 1s correct
Options :

878270100437. 1

878270100438. 2

878270100439. 3

878270100440. 4

Question Id : 87827025445 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827025446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100421. 1
878270100422. 2
878270100423. 3

878270100424. 4

Question Number : 47 Question Id : 87827025447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(4) 8 27 feai | o 32,000 foR.Ht. 1 g 7+
Options :
878270100425. 1
878270100426. 2

878270100427. 3

878270100428. 4

Question Number : 48 Question Id : 87827025448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100429. 1

878270100430. 2

878270100431. 3

878270100432. 4

Question Number : 49 Question Id : 87827025449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100433. 1

878270100434. 2



878270100435. 3

878270100436. 4

Question Number : 50 Question Id : 87827025450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100437. 1
878270100438. 2
878270100439. 3

878270100440. 4

Buddhist,Jaina,Gandhian and Peace Studies

Section Id : 878270737
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701110
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827025451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Kutadanta Sutra is found in :
(1) The Digha Nikaya

(2) The Samyutta Nikaya

(3) The Anguttara Nikaya

(4) The Khuddaka Nikaya
Options :
878270100441. 1
878270100442. 2
878270100443. 3

878270100444. 4

Question Number : 51 Question Id : 87827025451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100441. 1
878270100442. 2
878270100443. 3

878270100444. 4

Question Number : 52 Question Id : 87827025452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per the Buddhist tradition, the oldest corporeal relics of the Buddha is :

(1) Teeth
(2) Bone
(3) Nail
(4) Hair
Options :

878270100445. 1
878270100446. 2
878270100447. 3
878270100448. 4

Question Number : 52 Question Id : 87827025452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100445. 1
878270100446. 2
878270100447. 3

878270100448. 4

Question Number : 53 Question Id : 87827025453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Father of Tibetan Literature ......
(1) Thonmi Sam-bho-ta

(2) Padma-Sambhava
(3) Atisa Dipankara
(4) Santarakshit

Options :

878270100449. 1
878270100450. 2
878270100451. 3
878270100452. 4

Question Number : 53 Question Id : 87827025453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100449. 1
878270100450. 2
878270100451. 3

878270100452. 4

Question Number : 54 Question Id : 87827025454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the Tibetan legend, some Buddhist missionaries from India had approached the
Tibetan King named ...

(1) Sron-btsan-sgam-po
() Tho-tho-ri

(3)  Khri-sron-lde-btsan
(4) Ral-pa-chen
Options :
878270100453. 1
878270100454, 2
878270100455. 3

878270100456. 4

Question Number : 54 Question Id : 87827025454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270100453. 1
878270100454. 2
878270100455. 3

878270100456. 4

Question Number : 55 Question Id : 87827025455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

dentify the place where a bas-relief labelled as “Bhagvato Saka Munino Bodhi" was discovered.
1) Bodh-Gaya

[

(1)

(2) Saiichi Stupa
(3) Bharhut Stupa
(4) Ajanta caves
Options :
878270100457. 1
878270100458. 2
878270100459. 3

878270100460. 4

Question Number : 55 Question Id : 87827025455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
34 T ) fafea X SRl e ek gfE s g g Een T e |
(1) ST

(2) dEE

(3) HYEd U
(4) SIS I THE
Options :

878270100457. 1
878270100458. 2
878270100459. 3

878270100460. 4

Question Number : 56 Question Id : 87827025456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dentify the place of Gandha-Kuti of the Buddha, which was visited by Dharmarakshita to supervise.
) Bodh-Gaya
) Sarnatha
)
)

Options :

878270100461. 1
878270100462. 2
878270100463. 3

878270100464. 4

Question Number : 56 Question Id : 87827025456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

3 A 1 Tafed X SRl 9 F Tergel i e R s o 9

(1) ST
(2) €T
(3) e
(4) e
Options :

878270100461. 1
878270100462. 2
878270100463. 3

878270100464. 4

Question Number : 57 Question Id : 87827025457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[dentify amongst the following the rock cut cave where eleven headed bodhisattva image was
found :

(1) Ajanta
(2) Ellora
(3) Kanheri
(4) Karle
Options :
878270100465. 1
878270100466. 2
878270100467. 3

878270100468. 4

Question Number : 57 Question Id : 87827025457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270100465. 1
878270100466. 2
878270100467. 3
878270100468. 4

Question Number : 58 Question Id : 87827025458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Identify the village where Krpasarana Mahathera was born :
(1) Unainpura
(2) Odantpuri
(3) Purba Medinipura
(4) Anandpura
Options :
878270100469. 1
878270100470. 2
878270100471. 3

878270100472. 4

Question Number : 58 Question Id : 87827025458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

39 UM 1 YEHH hITSIT STET FURRU HRILT 1 S g1 o :

(1) g

Options :

878270100469. 1
878270100470. 2
878270100471.3

878270100472. 4

Question Number : 59 Question Id : 87827025459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[dentify the writer of the book PratityaSamutpadahridayaKirik or commentary on “Heart of
Depedent origination” from the option below :

(1) Arydeva
) Shintideva

) Nagarjuna

) Atisha Diparkar Srijfiana
Options :
878270100473. 1
878270100474 2
878270100475. 3

878270100476. 4

Question Number : 59 Question Id : 87827025459 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el feu T foshedi § 9 YalcTHrIRRGd- R & W@ Hi TgaH Sl ;
NEER

(2) Yied
(3) I
(4) e Srog 9E

Options :

878270100473. 1
878270100474. 2
878270100475. 3

878270100476. 4

Question Number : 60 Question Id : 87827025460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In the modern age of Globalization where entire world is a village, Buddhism is widely accepted
across the continents, Identify the most appropriate reason to it amongst the following :

(1) Buddhist teachings are based on Action and result that is above any other rules and it does
not have any exception to it

(2) It advocates emptiness that is acceptable in all major religions of the world

(3)  Teachings of Buddha are available in all major religions of the world; hence relevant today

(4) Buddhism supports all God like personalities of all other religions, hence widely accepted

Options:

878270100477. 1
878270100478. 2
878270100479. 3

878270100480. 4



Question Number : 60 Question Id : 87827025460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(
(

878270100477. 1
878270100478. 2
878270100479. 3

878270100480. 4

Question Number : 61 Question Id : 87827025461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Considering the Buddhist order of monk and nuns, Can it be said that Buddhism negates the
family life ? Choose the correct option from below ;

(1) Yes, for emancipation, we must renounce the household life as the Buddha did.

(2) No, if everybody will leave household life, all worldly affairs will come to standstill and the
food or shelter for all including monks and become impossible.

(3) No, although mendicancy is mandatory to reach higher stages of practice, Buddha never
condemn household life. Hence no need to renounce household.

(4) Yes, by following the Eightfold path, only a monk or nun can achieve Arhathood and
Buddhahood in Hinayana and Mahayana respectively.

Options:



878270100481. 1
878270100482. 2
878270100483. 3

878270100484. 4

Question Number : 61 Question Id : 87827025461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100481. 1

878270100482. 2

878270100483. 3

878270100484. 4

Question Number : 62 Question Id : 87827025462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[dentify the correct description of “Uttarbodhi Mudra” as per Buddhist iconography.

(1) The thumb and the index finger touch creating a circle that symbolizes an uninterrupted
flow of wisdom. The other three fingers point up towards the heaven with palm facing
outwards. This is held at around chest level.

(2) The left hand is in Meditation Mudra (dhyana) while the right hand is erect with the palm
facing outward. All fingers point to sky. The right hand is usually at the chest or shoulder
level

(3) The right index finger touches the right thumb and the left index finger touches the left
thumb, forming two circles (wheels). In this mudra, the left palm faces inward while the
right palm faces outward. This mudra is usually performed in front of the heart

(4)  Itis performed with the help of both the hands, which is placed on the heart, and the index
fingers, touching and pointing up and the remaining fingers are interwined

Options:

878270100485. 1
878270100486. 2
878270100487. 3
878270100488. 4

Question Number : 62 Question Id : 87827025462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100485. 1
878270100486. 2
878270100487. 3

878270100488. 4

Question Number : 63 Question Id : 87827025463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the point of view of Jaina history the world time circle is divided into:
(1) Nine parts

(2) Six parts
(3) Four parts
(4) Seven parts
Options :
878270100489. 1
878270100490. 2
878270100491. 3

878270100492. 4



Question Number : 63 Question Id : 87827025463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S 4 o 3fer 1 g | fova sieres 1 3 9w H faved e T g

(1
(2) o'
(3) =R
(4) W
Options :

878270100489. 1
878270100490. 2
878270100491. 3

878270100492. 4

Question Number : 64 Question Id : 87827025464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The author of the Rayanasara is :
(1) Siddhasena
(2) Haribhudrasuri
(3) Jinasena
(4) Kundakunda
Options:
878270100493. 1
878270100494. 2
878270100495. 3

878270100496. 4



Question Number : 64 Question Id : 87827025464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270100493. 1
878270100494. 2
878270100495. 3

878270100496. 4

Question Number : 65 Question Id : 87827025465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Sthanakavasi Jains of Jain society are related to this group of Jaina sect :
(1) Martipijaka Samgha

(2) Swetimbara
(3
(

)
) Kastha Samgha
4)

Digambara
Options:
878270100497. 1
878270100498. 2
878270100499. 3

878270100500. 4



Question Number : 65 Question Id : 87827025465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S GUTS o THEGIE 39 T § grEafed ©

(1) HfTgsTes |9

(2) vAAEER

(3) hISSTHE

(4) o=
Options :

878270100497. 1
878270100498. 2
878270100499. 3
878270100500. 4

Question Number : 66 Question Id : 87827025466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One kind of the Right knowledge is :
(1) Manahparyaya
(2) Dharma
(3) Vedniya
(4) Upisana
Options:
878270100501. 1
878270100502. 2
878270100503. 3
878270100504. 4



Question Number : 66 Question Id : 87827025466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘g AT TE WS T —

(1) #4939

(2) =

(3) dEH

(4)  SUTEA
Options :

878270100501. 1
878270100502. 2
878270100503. 3
878270100504. 4

Question Number : 67 Question Id : 87827025467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The earliest remains of paintings related to Jainism are found in the wall-paintings of
(1) Sittanavisala

(2) Lohanipur

(3) Mount-Abu

(4) Hastinapur
Options:
878270100505. 1
878270100506. 2
878270100507. 3

878270100508. 4



Question Number : 67 Question Id : 87827025467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
S 5 BT Ho FIE Teshel o S7ae g9 R ok Tt | 3ueed € —
(1) fHaerEma
(2) R
(3) HRS e
(4) TETR
Options :
878270100505. 1
878270100506. 2

878270100507. 3

878270100508. 4

Question Number : 68 Question Id : 87827025468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The ‘Ayagapatta’ related to Jaina art is found from :
(1) Devagarha
(2) Jesalamer
(3) Mathura
(4) Delwara
Options:
878270100509. 1
878270100510. 2
878270100511. 3

878270100512. 4



Question Number : 68 Question Id : 87827025468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S 9 i el § GEyd  STEnE 39 TE 9 U gen § —

(1) TFTE
(2) SHAHR
(3) HIU
(4) feemETer
Options :

8782701005009. 1
878270100510. 2
878270100511. 3

878270100512. 4

Question Number : 69 Question Id : 87827025469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The meaning of “Sarmvara” elements in Jainism is :
(1) To destroy equmitated Karmas

(2) To bondage Karmas with Jivas
(3) Comming of the Karmas to Jivas
(4) To stop the incoming Karmas

Options:

878270100513. 1

878270100514. 2

878270100515. 3

878270100516. 4



Question Number : 69 Question Id : 87827025469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SF @ H ' Har"' 9 &1 aredd B
(1) = =l 1 & KT |

(2) Sita IR &Y *1 e § e g
(3) SilE ok HH KT ST

(4) SHHREE I UkAT |

Options :

878270100513. 1
878270100514. 2
878270100515. 3
878270100516. 4

Question Number : 70 Question Id : 87827025470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

These siibstances are helpful and obstical in motion of object :

(1) Akasa-Kaila

(2) Dharma - Adharma

(3) Kala- Jiva

(4) Ajiva - Jiva
Options:
878270100517. 1
878270100518. 2
878270100519. 3

878270100520. 4



Question Number : 70 Question Id : 87827025470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S TUUER 9% % T § e U6 J91EE J A © ¢
(1)  STTRRI-HTe

(2) HH-3YH

(3) hIA-SId

(4) 3TSitg-Sig
Options :

878270100517. 1
878270100518. 2
878270100519. 3
878270100520. 4

Question Number : 71 Question Id : 87827025471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Jainism believes in :
(1) Theory of Karma
(2) Casteism by birth
(3) Assimilation in God
(4) No life after death

Options :

878270100521. 1

878270100522. 2

878270100523. 3

878270100524. 4



Question Number : 71 Question Id : 87827025471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sy 39 W fovar & ©
(1) HaR

(2) ST SAIfErE

(3) FYR H fAel S

(4) Y & TG SitaA -
Options :

878270100521. 1
878270100522. 2
878270100523. 3

878270100524. 4

Question Number : 72 Question Id : 87827025472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The seventh Bhainga's name of Syadvada is :
(1) Syadasti - Syadanast
(2) Syad - Ast - Syad Avaktavyam
(3) Syadastinasti - Syad Avaktavyam
(4) Syad-nasti - Syad Avaktavyam

Options:

878270100525. 1

878270100526. 2

878270100527. 3

878270100528. 4



Question Number : 72 Question Id : 87827025472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TGS & IaH 7 H1 M 8
(1) wRfE—ergi
(2) -G —TAG SFTHIA
(3) EARFERG—Ig STasReTH
(4) R TG —2N FaHTTq
Options :
878270100525. 1
878270100526. 2

878270100527. 3

878270100528. 4

Question Number : 73 Question Id : 87827025473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The concept of Digvrata and Desavrata are mandatory :
(1) only for poors

(2) only for §resthi

(3) only for Householders

(4) only for Monks

Options:

878270100529. 1

878270100530. 2

878270100531. 3

878270100532. 4



Question Number : 73 Question Id : 87827025473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Terga—<viEd i FURo g:léﬁ fFTQ ATTYTF ® :
(1) had T o fow
(2) <haa gfedl & foag
(3) hadl grerehl o ferw
(4) Had gHUT & fou
Options :
878270100529. 1
878270100530. 2

878270100531. 3
878270100532. 4

Question Number : 74 Question Id : 87827025474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
This is NOT included in the five Mahavratas :
(1)  Ahirmsa
(2) Satya
(3) Aparigraha
(4) Samaika
Options :
878270100533. 1
878270100534. 2
878270100535. 3
878270100536. 4



Question Number : 74 Question Id : 87827025474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1= HeEd § g8 afafad 748 -
(1) IfeE

(2) ¥4

3) AURUE

(4) HHITHR
Options :

878270100533. 1
878270100534. 2
878270100535. 3

878270100536. 4

Question Number : 75 Question Id : 87827025475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An Autobiography or “The Story of My Experiments with Truth” was originally written by Gandhi
in Gujrati and was translated it into English by -

¢

) Pyarelal

2)  Sushila Nayyar
3) Maganlal Gandhi
)

4)  Mahadev Desai

Options:
878270100537. 1

878270100538. 2

878270100539. 3



878270100540. 4

Question Number : 75 Question Id : 87827025475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100537. 1

878270100538. 2

878270100539. 3

878270100540. 4

Question Number : 76 Question Id : 87827025476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the following statement :

Gandhi follows is given by

"ekam evadvitiyam, sarvasya vasi and nityo nitynam’ which means that the ultimate reality is in
the final analysis indefinable.

(1) Rigvedas
(2) Upanishads
(3) Yoga-sutras
(4) Bhagavadgita

Options :



878270100541. 1
878270100542. 2
878270100543. 3

878270100544. 4

Question Number : 76 Question Id : 87827025476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270100541. 1
878270100542. 2

878270100543. 3

878270100544. 4

Question Number : 77 Question Id : 87827025477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The secret of Gandhiji's success was :
(1) Simple living and high thinking
(2) Keep the weapons for ones protection

(3) Always wear fine suits

(4) Take pride in getting work done by others



Options :

878270100545. 1
878270100546. 2
878270100547. 3

878270100548. 4

Question Number : 77 Question Id : 87827025477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR ST SRl FherdT o T o

(1) e S 3R 3= foan

(2) Bl =1 e geen & foe w
(3) BHIN 3= F YgAI

(4) THU H FH FHIEHL Td HegH HEl
Options :
878270100545. 1
878270100546. 2
878270100547. 3

878270100548. 4

Question Number : 78 Question Id : 87827025478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘Touch-me-not'-ism disfigures :
(1) Social necessity

) the present day Hinduism

(3) the Britishers creation

) the Institution of Dalits



Options :

878270100549. 1
878270100550. 2
878270100551. 3
878270100552. 4

Question Number : 78 Question Id : 87827025478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options:

878270100549. 1
878270100550. 2
878270100551. 3
878270100552. 4

Question Number : 79 Question Id : 87827025479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify from the following :
The practical non violence is :

(1) Just selfishness without malevolence and with a touch of benevolence

(2) Non-violence necessarily excludes violence, but it necessarily excludes benevolence
(3)  Selfishness or not working for the good of others

(4)  Just selfless with malevolence and without touch of benevolence

Options:
878270100553. 1
878270100554. 2

878270100555. 3

878270100556. 4

Question Number : 79 Question Id : 87827025479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270100553. 1
878270100554. 2
878270100555. 3
878270100556. 4

Question Number : 80 Question Id : 87827025480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Constructive programme designed by Gandhi is :

(1) tobuild up the nation from the very bottom upwards

(2) tobuild up the nation from the very top downwards

(3) tobuild up the nation from the middle to the very downwards to the bottom
(4)  tobuild up the nation from the middle to the very upwards to the top

Options :
878270100557. 1
878270100558. 2

878270100559. 3

878270100560. 4

Question Number : 80 Question Id : 87827025480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100557. 1
878270100558. 2
878270100559. 3

878270100560. 4

Question Number : 81 Question Id : 87827025481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Empowerment is a process and includes the following components :
(I) Economic dependence

(2
(3
(

) Non-participation in all decision-making bodies
) Equal access to opportunities forusing society’s resources

4)  Prohibition of gender discrimination in thought only

Options :

878270100561. 1
878270100562. 2
878270100563. 3

878270100564. 4

Question Number : 81 Question Id : 87827025481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100561. 1
878270100562. 2
878270100563. 3

878270100564. 4

Question Number : 82 Question Id : 87827025482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Gandhiji was convinced that Village Panchyats have enormous potentialities organisation based
on:

1
2
3
(

4)  Urban upliftment

) Grass-root democracy
) Non-voluntary efforts
) Mutual non-coperation
)

Options :

878270100565. 1
878270100566. 2
878270100567. 3

878270100568. 4

Question Number : 82 Question Id : 87827025482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100565. 1
878270100566. 2
878270100567. 3

878270100568. 4

Question Number : 83 Question Id : 87827025483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Gandhi-Jinnah talks were held from September 9 to September 27, 1944, when the two leaders
met almost daily. Inall, interviews took place between them.

(1) Twelve
2) Forteen

Options :

878270100569. 1
878270100570. 2
878270100571. 3

878270100572. 4

Question Number : 83 Question Id : 87827025483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270100569. 1
878270100570. 2
878270100571. 3

878270100572. 4



Question Number : 84 Question Id : 87827025484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Two Nation Theory propounded by in the 19th century.
(1) Syed Ahmad

(2) Abul Kalam Azad

(3) Jinnah

(4) Leonard Mosley

Options :

878270100573. 1
878270100574. 2
878270100575. 3

878270100576. 4

Question Number : 84 Question Id : 87827025484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100573. 1
878270100574. 2
878270100575. 3

878270100576. 4



Question Number : 85 Question Id : 87827025485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gandhi's strategy during the Rowlatt Act agitation was NOT fo :
(1) Provoke the government to arrest him and his followers

(2) Start a movement to fill the jails

(3) Suspension of Satyagraha

(4) Impose restrictions on the press

Options :

878270100577. 1

878270100578. 2

878270100579. 3

878270100580. 4

Question Number : 85 Question Id : 87827025485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

el T TR FE ' H STAER 379 foR foraml R afvreren s @

WERISE S HGE
(2) ifew q

(3) RS T HEE
(4) o
Options :

878270100577. 1
878270100578. 2
878270100579. 3

878270100580. 4



Question Number : 86 Question Id : 87827025486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gandhi's concept of ‘Constructive Work” is used to express his ideas on :
(1) Quit-India movement

(2) Non-violent liberation

(3) Unitary state structure

(4) Civil disobedience

Options :

878270100581. 1
878270100582. 2
878270100583. 3

878270100584. 4

Question Number : 86 Question Id : 87827025486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100581. 1
878270100582. 2
878270100583. 3

878270100584. 4



Question Number : 87 Question Id : 87827025487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Positive peace was first described by :

(1) Mahatma Gandhi
2

=

(2) Dalai Lama
(3) Thich Nhat Hanh
(4) Johan Galtung

Options :

878270100585. 1
878270100586. 2
878270100587. 3

878270100588. 4

Question Number : 87 Question Id : 87827025487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270100585. 1
878270100586. 2

878270100587. 3

878270100588. 4



Question Number : 88 Question Id : 87827025488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the postulates of modern peace education from the following :
(1) Conflict is localized

(2) There are no alternatives to violence

(3) Peace is a uniform process

(4) Explains the roots of violence

Options :

878270100589. 1
878270100590. 2
878270100591. 3

878270100592. 4

Question Number : 88 Question Id : 87827025488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100589. 1
878270100590. 2
878270100591. 3

878270100592. 4



Question Number : 89 Question Id : 87827025489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The characteristic feature of peace builders is :

(1) Bureaucratic

(2) Political

(3) Empathy

(4) Neutrality
Options :

878270100593. 1
878270100594. 2
878270100595. 3

878270100596. 4

Question Number : 89 Question Id : 87827025489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

STifd oM T d1el o6 THE FMEH e @

(1) STHEIME

(2) TSI

(3) <heUN

(4) IRTHAT/TEEAT
Options :

878270100593. 1
878270100594. 2
878270100595. 3

878270100596. 4



Question Number : 90 Question Id : 87827025490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The UNESCO has a mission to promote :
(1) Education

(2) Political authority

(3) Religion

(4) Activism

Options :

878270100597. 1

878270100598. 2

878270100599. 3

878270100600. 4

Question Number : 90 Question Id : 87827025490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100597. 1
878270100598. 2
878270100599. 3

878270100600. 4



Question Number : 91 Question Id : 87827025491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Important facts about the 4 Buddhist Council and its significance, Identify the correct statement
of the following :

A)  The place of the 4th Buddisht council was Jalandhar

(

(B) The Southern Buddhist recognize this Council

(C) One of the result of the Council won the settling of the dissensions in the Samgha

(D) Kaniska convened the council on the advice of Vasumitra

(E) There is no evidence that Mahayana Buddhism was represented in the proceedings of the
Council

Choose the correct answer from the options given below :

(1) (&), (B),(C) Only

(2) (B), (C), (D) Only
(3) (A) €, (E) Only
(4 (A), () () O
Options :

878270100601. 1
878270100602. 2
878270100603. 3

878270100604. 4

Question Number : 91 Question Id : 87827025491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270100601. 1
878270100602. 2

878270100603. 3
878270100604. 4

Question Number : 92 Question Id : 87827025492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Answer the following based on the history of Buddhism in Kashmir.

(A) Buddhism was introduced into Kashmir under King Afoka’s reign by Rakkhita Thera
(B) Xuanzamg refers to a tooth-relic of Buddha in Kashmir

(C) Thecity of §rinagara, founded by using Asoka is identified with Pandrethan

(D) Queen Amritaprabha built a monastery for foreign Bhikshus in Kashmir

(E) ASoka’s son Jalauka was an adherent of Buddhism

Choose the correct answer from the options given below :

(1) (A) ) (£ )Oﬂl}’

(2) (4.0 (O)Onl
(3) (), (€), (D) Onl
(4) (€, (D) () Onl
Options:
878270100605. 1
878270100606. 2
878270100607. 3
878270100608 4

Question Number : 92 Question Id : 87827025492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100605. 1

878270100606. 2

878270100607. 3

878270100608. 4

Question Number : 93 Question Id : 87827025493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the texts that narrates the biography of the Buddha.
(A) Mahavagga

(B) Brahmajala Sutta

(C) Mahavastu

(D) Nidanakatha

(E) Lalitavistara

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2)  (4), (B), (©) (D) Only

(3) (), (©), (D), (E) Only

(4)  (A) Q) (D), (E) Only

Options:

878270100609. 1
878270100610. 2
878270100611. 3
878270100612. 4

Question Number : 93 Question Id : 87827025493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100609. 1
878270100610. 2
878270100611. 3
878270100612. 4

Question Number : 94 Question Id : 87827025494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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[dentify the remendy prescribed by the Buddhist Scholar Asanga for taming of one's anger in his
book “The 37 Practices of Bodhisattva”.

A} Combating the mind through Love and Compassion
B) The army of Love can Combat the anger

(

(

(C) Combating outer enemy is possible but they will appear again and again

(D) The Skilful means (Upayakaushalya) is the answer of the anger, one is inner army
(

E) Combating anger is not possible, hence develop friendliness to the enemy
Choose the correct answer from the options given below :
(1) (4) (0 and D) Oy

Options :

878270100613. 1
878270100614. 2
878270100615. 3

878270100616. 4

Question Number : 94 Question Id : 87827025494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100613. 1
878270100614. 2
878270100615. 3

878270100616. 4

Question Number : 95 Question Id : 87827025495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify among the following the facts those are NOT true regarding Madhyamika School to thought
in Buddhism.

(A) Madhyamika asserts the ultimate emptiness and conventional reality of all phenomena.
Yogicira is considered to be idealistic

(B) Madhyamika means middle view ie, the right view in the eightfold path

(C) InSanskrit text Katyayanasitra, it is stated that there is not permanent existence in the world

(D) Madhyamika affirms that all the dharmas are having Svabhiva and it eventually establish
emptiness

(E) Nagarjuna disassociates emptiness with ultimate truth
Choose the correct answer from the options given below :
(1) (A)and (C) Only

) (D) and (E) Only
(3) (C)and (D) Only
(4) (A)and (B) Only
Options:

878270100617. 1
878270100618. 2
878270100619. 3

878270100620. 4

Question Number : 95 Question Id : 87827025495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Options:

878270100617. 1
878270100618. 2
878270100619. 3
878270100620. 4

Question Number : 96 Question Id : 87827025496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the true facts about the book named Vibhanga of Abhidharmapitaka.
A)  An English translation of Vibhanga is known as, “The book of Analysis”

B) The Commentary of Vibhanga is named as Sammohavinodini

(
(
(C) The Commentary of Vibhanga is also known as Gulatthadipani
(D) The english translation of Vibhanga is known as “The Expositor”
(E) The name of the Commentary of Vibhanga is Althasalini

Choose the correct answer from the options given below :

(1) (8), (D) and (E) Only

(2) (B), () and (E )ODIY
(3)  (A), (B) and (C) Onl

(4) (A) (D) and (E )Only
Options:

878270100621. 1
878270100622. 2
878270100623. 3
878270100624. 4

Question Number : 96 Question Id : 87827025496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100621. 1
878270100622. 2

878270100623. 3

878270100624. 4

Question Number : 97 Question Id : 87827025497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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[dentify amongst the following the names of Caves at Barabar hills Caves.
(A) Sudama Cave

(B) Karan Chapar Cave

(C) Lomash Rishi Cave

(D) Vishnu Karma Cave

(E) Gopika Cave

Choose the correct answer from the options given below :

(1) (A), (B), (D) and (E) Only

(2) (A) (C), (D) and (E) Only
(3) (), (B) (C) and (B )Oniv
(4)  (A), (B) (C) and (D) Onl
Options:

878270100625. 1
878270100626. 2
878270100627. 3

878270100628. 4

Question Number : 97 Question Id : 87827025497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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Options :

878270100625. 1
878270100626. 2
878270100627. 3
878270100628. 4
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Minimum Instruction Time : 0
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Read the following statements
A) Lord Parvanitha delivered the sermon of ‘Caturyamadharma'

B) Maharana Kumbh constructed the Jaina Sturhbha found in Chittaurgarh

(
(
(C)  Jainamonk who destroyed his Foe Aghitiya Karmas by his penance heis knownas ‘Arihanta’
(D) Acirma Hemachandra was author of 8% Century CE.

(

E) Digambar Jaina idols are without any passion and prossession
Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

2 ()()ﬂnd(E)Oﬂly
(3)(B) (C) and (D) Onl

4) (C),(D)and (E )Onlv
Options:

878270100629. 1
878270100630. 2
878270100631. 3
878270100632. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frAfafEd 5 9 Hel el 1 =997 i :

(A)  STTET e 3 T e R Suew fem an

(B) Tordiste § e S RN P - SIara 41|

(C) FHHET WF I T A a1 5 W 1 ' @ Fad €
(D) 3= =S G 23] Idiedl & i@ o |

(E) femsr S gfdar it wfos e g1 4§ et €1

i feu Tu fosmedi 9 9 WEF ST & =TI Hif0
(1) ke (A), (B) 311 (D)

(2) %ad (A), (C) ¥R (E)

(3) < (B), (C) ¥R (D)

(4) & (C), (D) ¥R (E)
Options :

878270100629. 1
878270100630. 2
878270100631. 3

878270100632. 4

Question Number : 99 Question Id : 87827025499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct statement
A)  Author of the ‘Samayasira’ is Acarya Kundakunda

[
(
(B) Research Institute of Ahimsa, Jainology and Prikstis running by Bihar Government in Vaishali
(C) Acarya Siddhasena is the author of Dravyasangraha Prikit text

(D) Abhayadana is also included in the kinds of charity in Jainism

(

) Tirthaikara Parévanitha was born in Ayodhya

Choose the correct answer from the options given below :

(1) (B)(C)and (E)Orly
() (C),(D)and (E) Only
(3) (&), (B) and (C) Only
(4) (A) (B)and (D) Only
Options:

878270100633. 1
878270100634. 2
878270100635. 3
878270100636. 4

Question Number : 99 Question Id : 87827025499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frmaferfiaa & & T w1 9

(A) 'GHER' T & TR AR S ¢ |

(B) ToreR SR NI Wikl Ud SAfeH1 vie HeAr demedt H | &
(C) 3= fagH ' gorwus’ g T7 & @ & |

(D) Sty ¥ <A % Wbl § * erereE | ot fferd §

(B) irefen Tree o1 ST~ SR g |

A fou e faeredi H | Wel I 1 =957 iy :

(B), (O) ¥R (E)

Options:

878270100633. 1
878270100634. 2
878270100635. 3

878270100636. 4

Question Number : 100 Question Id : 87827025500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct statement :
A) Mother of Lord Mahavira was queen Trishala

I
(
(B) Author of the ‘Bhaktiribara Stotra’ in Jaina devotion literature is Minatuiga
(C) Jaina Monks known as Upidhyaya are not included in Five preceptors

(D) Kefariyaji Jain temple is related with Tirthankara Rsabhadeva

(£

) Acirya Jinasena belonging to 8th century C.E. was prominent author of Prakrit literature

Choose the correct answer from the options given below :
(1) (A), (8)and (C) Only

(2} (B), (D) and (£) Only
(3)  (A), (B) and (D) Only
(4 (C), (D) and (E) Only
Options:

878270100637. 1
878270100638. 2
878270100639. 3
878270100640. 4

Question Number : 100 Question Id : 87827025500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfad o © W&t sl 1 gfu

(A) SFTAT WETER T Hia T e’ o |

(B) S ek Wfecd H ' ekl &' o @@sh HMG ¢ |

(C) 3W=Ad o 91y ‘i qefie’ § wffefad 78 €|

(D) ‘e S S HiGy Fuved diofa § grafd 2 |

(E) 3Tl yrrea] o 7= fSTad g Wifec & U@ T-9eR 4 |

T fou U fasredi d U WE I H T Rl
(1) 9 (A), (B) 3R (Q)

(2) W (B), (D) ¥R (E)

(3) W (A), (B) S (D)

(4) e (C), (D) 3R (E)
Options :

878270100637. 1
878270100638. 2
878270100639. 3

878270100640. 4

Question Number : 101 Question Id : 87827025501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the correct statement :

(A) Namokara Mahamantra is writen in Sanskrit Language

(B) The "Siddhas’ are included in Five Preceptors

(C) Right Knowledge is divided into eight kinds

(D) Author of the Dhavata Tika is Acarya Virasena

(E) Prominent centre of Jaina art Devagarha is in Madhya Pradesh
Choose the correct answer from the options given below :

(1) (B), (D) and (E) Only

(2) () (C) and (D )Oﬂly
(3) (C), (D) and (E) Onl

(4) (B), (C) and (D) Only
Options:

878270100641. 1
878270100642. 2
878270100643. 3
878270100644. 4

Question Number : 101 Question Id : 87827025501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafed 4 9 9t w1 gfw .

(A) TR HETHA G&hd am H fafad g

(B) ‘fog’ dm yuifiedl # wfufad €1

(C) ‘HErgH’ & e U B

(D) &1 3rehl & TEATRR A= FREA @l € |
(B) Sl o1 Y@ &5 ‘ST’ Heusy H 2|
== feu U fasmed H | Wet UL k1 T HIfS

(1) 9d (B), (D) ¥R (E)
(2) Ee (A), (C) ¥R (D)
(3) &Fd (C), (D) ¥R (E)
(4) e (B), (O) 3R (D)
Options :

878270100641. 1
878270100642. 2
878270100643. 3
878270100644. 4

Question Number : 102 Question Id : 87827025502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the correct statements :
A) Lord Rsabhadeva attained Salvation at Astapada Parvata

(

(B) Terapantha Murtipujaka Jains are related with the Swetambar Sangha
(C) Lord Mahavira was born in the sixth century B.C.E.

(D) Prayer, devotion and Upasani are known as “Triratna” in Jainism

(E) Digambar Jaina Monks observe the Gupti and Samitis in daily life.

Choose the correct answer from the options given below :
(1) (B), (C)and (D) Only

Options:

878270100645. 1
878270100646. 2
878270100647. 3
878270100648. 4

Question Number : 102 Question Id : 87827025502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfid o 9 @&l el =1 g .

(A) T SREYeE 7 ST9E Teid § e g o o

(B) XY Hfysier S YodTer Ho § Ffd |

(C) WEH Helalt 1 S+ $61 T8 D1 vidreal | a7 41|

(D) e o e wedn wfe iR s A kel S © |

(B) famer Sy S sfem | Tfta oiv wfufedi 1 g w3 €
A fou e faeredi H | Wel I 1 =957 iy :

(1) % (B), (C) ¥R (D)

(2) %94 (C), (D) ¥R (E)
(3) EE (A), (C) ¥R (E)
(4) = (A), (B) 3 ()

Options:

878270100645. 1
878270100646. 2
878270100647. 3
878270100648. 4

Question Number : 103 Question Id : 87827025503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following statements :
A) Kila substance is momentary for the world arrangement

(
(B) Siddhas are beyond from fourteen gunasthina

(C) Characteristic of Adharma substance is to provide space

(D) Multiple aspects of the truth is indicating the concept of Anekanta
(E) Characteristic of Dharma substance is providing stability

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

Options:

878270100649. 1
878270100650. 2
878270100651. 3
878270100652. 4

Question Number : 103 Question Id : 87827025503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafad womT =1 18

(A) ‘e’ fave SHaed1 1 Uk AETTF 55 2|
(B) THg = U § W ¢ |

(C) STEFTRHA ST 314 o ol @—Iv B |

(

(

D) WA % 3T U BT 3k bt 9fkfy § 371 g
E) oo yem w3 o 557 1 eI 2
= fou 7u fasweyi ° 9 HE 39 1 994 hifT ;

(1) ad (A), () ¥R (E)
(2) < (A), (B) ¥R (D)
(3) e (B), (D) 3R (E)
(4) FFa (C), (D) IR (E)
Options :

878270100649. 1
878270100650. 2
878270100651. 3
878270100652. 4

Question Number : 104 Question Id : 87827025504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following and identify the group of Astikaya substances only :
(A) Jiva - Ajiva
(B) Pudgal - Dharma
(C) Asrava - Kala
(D) Akasa - Kila
(E) Akasa - Adharma
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (€, (D) and (E) Only
(4)  (A), (B) and (E) Only
Options:
878270100653. 1
878270100654. 2
878270100655. 3
878270100656. 4

Question Number : 104 Question Id : 87827025504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frferfad e iR siferd 2o & |qE &l qg=y
(A) Sira—sTsite

(B) TTEA—3AEH
(C) STEE—H
(
(

D) SHNI—FE
E) hTe—3q4H
= feu o fasredi § 9 W& 39 1 =FIF HifAU

(1) aE (A), (B) R (C)
(2) ad (B), (C) 3R (D)
(3) &aFd (C), (D) ¥R (E)
(4) A (A), (B) 3R (E)
Options :

878270100653. 1
878270100654. 2
878270100655. 3

878270100656. 4

Question Number : 105 Question Id : 87827025505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The kind of Jiva in Jainism are :
(A) Two

(B) Four

(C) Six

(D) Fourteen

(E) Twenty Eight

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

(2) (B), (C) and (D) Only

(3) (C), (D) and (E) Onl

(4) (A), (C) and (D) Oniv

Options:

878270100657. 1

878270100658. 2

878270100659. 3

878270100660. 4

Question Number : 105 Question Id : 87827025505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SHEH | Sfe % 4S T

(A) =
(B) ¥R
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(D) IE
(E) 3159

== fou e fasredi © 9 W& 39 1 FHH HifI

(1) ad (A), () ¥R (E)
(2) ad (B), (C) 3R (D)
(3) ad (C), (D) ¥R (E)
(4) FFE (A), (C) 3R (D)
Options :

878270100657. 1
878270100658. 2
878270100659. 3

878270100660. 4

Question Number : 106 Question Id : 87827025506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CRajagopalachari Formula® which was published on July 10, 1944 after Gandhi was released
from Jail was having the following clauses.

(A) Subject to the terms set out below as regards the constitution for Free India, the Muslim
League endorses the Indian demand for Independence and will co-operate with congress in
the formation of a provisional interm Government for the transitional period

(B) ~ After the termination of the war, a commission shall not be appointed for demarcating
contagious districts in North-west and East of India, where in the Muslim population is in
absolute majority

(C) It will be open to all parties to advocate their points of view before the plebiscite is held
(D) Any transfer of population shall only be on an absolutely voluntary based

s

These terms shall not be binding only in case of transfer by Britain of full power and
responsibility for the governance of India

Choose the correct answer from the options given below :

(1) (A),(B) and (E) Only

(&) (A), () and (D) Only
(3) (A), (B)and (D) Only
(4) (A),(C) and (E) Only
Options:
878270100661. 1
878270100662. 2
878270100663. 3

878270100664. 4

Question Number : 106 Question Id : 87827025506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) R 1 TR ) 7 § e R WA B

(F) 3 Frl ket et ) i e o 20 A o T o 80 1l e e s

1 o T fordl % 9 T S0 61 o

(1) 5 (A), (B) ()

() F@ (4), (O O

3 (A)()aﬂi(m

() % (4), (C) 3 )

Options :

878270100661. 1

878270100662. 2

878270100663. 3

878270100664. 4

Question Number : 107 Question Id : 87827025507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the following events with year are NOT correct :
A) Brahmo Samaj established in 1828

I

(

(B) Arya Samaj founded in 1675

(C) Moplan Revolt in 1921

(D) Hind Swaraj is written in 1909

(E)  An Autobiography or ‘The Story of My Experiments with Truth’ is written up to 1930
Choose the correct answer from the options given below :

(1) (A)and (B) Only

Options:

878270100665. 1
878270100666. 2
878270100667. 3

878270100668. 4

Question Number : 107 Question Id : 87827025507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) Wil el 1921 ¥ gaM|

(D) T& T 11909 ¥ forean 7 |

(E) T ST 1 R et o oo for 2o 1930 7 feveht % o

el fou T foemed A © e I TH R0
(1) A (A) 4R (B)

(2) ad (B) & (C)

(3) ad (C) 4T (E)

(4) % (D) ¥ (E)

Options :

878270100665. 1
878270100666. 2
878270100667. 3
878270100668. 4

Question Number : 108 Question Id : 87827025508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main principles of Gandhi's Idealism to understand fundamentals of his approach to Labour
problem are :

(A) No Faith in Individuals

(B) Purity of Means

(C) Importance of Bread earning Labour

(D) Economic Inequality

(E) Industrialism - In favour of large-scale industrialisation
Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B)and (C) Onl

(3) (€ and D) Only
(4) (D)and (E) Only
Options :
878270100669. 1
878270100670. 2
878270100671. 3

878270100672. 4

Question Number : 108 Question Id : 87827025508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100669. 1
878270100670. 2
878270100671. 3
878270100672. 4

Question Number : 109 Question Id : 87827025509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the correct statements made by Gandhi regarding the Rights and Duties which seems to
suffer largely from massive confusion.

(A) Duties are the only right as he professed
(B)  One should run after Duties and not rights
(C) One should run after Rights and not duties
(D) Duties control the rights

(E) Rights control the duties

Choose the correct answer from the options given below :

(1) (A), (B)and (C) Onl
d

(2) (A) (B)and (D) Onl‘z
B ®)(Cmd( Only
(4)  (B) (A) and (E) Onl
Options :

878270100673. 1
878270100674. 2
878270100675. 3
878270100676. 4

Question Number : 109 Question Id : 87827025509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100673. 1
878270100674. 2
878270100675. 3

878270100676. 4

Question Number : 110 Question Id : 87827025510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The least that a man in search of truth can and ought to do is to abstain.
A) In thought

(
(B) In Speech and Action

(C) Injury to living beings only

(D) Injury to living beings and man
(E) In speech and not in action

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (C) and (D) Only
(3) (B), (D) and (E) Only
(4) (C), (D)and (E) Only
Options :

878270100677. 1
878270100678. 2
878270100679. 3
878270100680. 4

Question Number : 110 Question Id : 87827025510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100677. 1
878270100678. 2
878270100679. 3
878270100680. 4

Question Number : 111 Question Id : 87827025511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the statement that is related to Gandhi

(A) India is essentially Karmabhimi (Land of duty) in contradistinction to Bhogabhimi (Land of
enjoyment)

(B) Itis only the fear of God that can deliver s from the fear of man

(C) Twant Indi’s rise so that the whole world may benefit. I do not want India to rise on the
ruin of other nations

(D) He who reigns within himself and rules his passions, desires and fears is more than a King
(E) Tmay differ from what you say, but I will defend unto death your right to say it.

Choose the correct answer from the options given below :

(1) (A)and (B} Only

Q) (Aend (C )Only
() (B)and 0) On

(4) (D)an ()Onlv
Options:

878270100681. 1
878270100682. 2
878270100683. 3

878270100684. 4

Question Number : 111 Question Id : 87827025511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (4) S B
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(4 % 0) ()

Options :

878270100681. 1

878270100682. 2

878270100683. 3

878270100684. 4

Question Number : 112 Question Id : 87827025512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gandhi was greatly influenced by the most prominent New England Transcendental writers :
A)  Henry David Thoreau

(

(B) John Ruskin

(C) Leo Tolstoy

(D) Ralph Waldo Emerson

(E) Raichand Bhai

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B)and (C) Only
(3) (A)and (D) Only
(4) (D) and (E) Only
Options:
878270100685. 1
878270100686. 2
878270100687. 3

878270100688. 4

Question Number : 112 Question Id : 87827025512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100685. 1
878270100686. 2
878270100687. 3
878270100688. 4

Question Number : 113 Question Id : 87827025513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the correct statements from the following :
(A) Champaran satyagraha is famously known as the first satyagraha

(B) The Ahmedabad mill strike became the biggest civil-disobedience movement during India’s
freedom struggle

(C) Gandhi was given the names ‘Bapu’ and ‘Mahatma' during the non-coperation Movement
(D) Under British rule, Ahmedabad was part of the Gujarat Presidency

(E) Gandhi used the means of hunger strike for the first time in the Ahmedabad Mill Strike
Choose the correct answer from the options given below :

(1) () ) (C) Only

(2) (B), (D) (E) Only
(3) (&) (B), (E) Only
(4)  (B), (D), E) Only
Options :

878270100689. 1
878270100690. 2
878270100691. 3
878270100692. 4

Question Number : 113 Question Id : 87827025513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) T 0 SR AT o SR Ay o e ) & |

(D) Tt T o S STeverane T Sferedt 1 o o
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—
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) )
) )
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)
)
B), (D), (£

D), (E

)

Options:

878270100689. 1
878270100690. 2
878270100691. 3

878270100692. 4

Question Number : 114 Question Id : 87827025514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct statements from the following :
A) Nichiren Buddhism teaches respect for the dignity of all human fife

I
(
(B) Nichiren Buddhism is a form of Mahayana Buddhism
(
(

—

() Daisaku Ikeda embodies patriotism, authority and war

D) Nichiren Buddhism views enlightment as a condition in which one enjoys the highest wisdom,
confidence and other positive qualities

(E) Tkeda embodies unilateral decisions as the foremost principle, process and goal of peace
Choose the correct answer from the options given below :

(1) () ) (C) Only

2

Options :

878270100693. 1
878270100694. 2
878270100695. 3

878270100696. 4

Question Number : 114 Question Id : 87827025514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T o T2 et 9 ) o o 7

(A) TR e Tt TR % A e 1 e A ST A fo ¢
(B) il aigare W dgare 1 0% e 3|

(C) T Hhe) <y, SRR, e 7 o S T SRt ¢

(

D) e e 97 e %1 v e v e ¢ fod ot ot s, v a0
A e T 2 2

E) e Tl = (i o) Wyt g, Whwan oo % WO ¢
A e T foedl 0 R S o T Wi

(1) @ (4), B) (0

Q) @) (0,0

3) i (C) (D) )

() (4), (3) )

Options:

878270100693. 1
878270100694. 2
878270100695. 3
878270100696. 4

Question Number : 115 Question Id : 87827025515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct statements from the following :
A) UNESCO's Culture of Peace programme was initiated in 1995

B) Culture of Peace programme aims to assist wartorn societies

(
(
(C) The Culture of Peace programme mobilizes people to defeat an enemy
(D) The peace programme facilitates the work of reconciliation and rebuilding
(E) The peace programme upholds secrecy and control of information
Choose the correct answer from the options given below :

(1) (4), (B), (C) Only

(2) (A), (B) (D) Only
(3) (), (C), (D) Only
(4) (), (D), (E) Only
Options:

878270100697. 1
878270100698. 2
878270100699. 3
878270100700. 4

Question Number : 115 Question Id : 87827025515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 fou T oMl 4 9 WEl HU T Fi

(A) FTEhI 1 I HERTd FRIsRH 96 1995 H SR g1 41

(B) Wifdt eepfar eferm o1 SRV g § R TS B Wl F §
(C) it Wl FrRlsH (Tl ) I 1 &0 o fore Serd 21
(D) iifd rsd § Yetesrrt aon YA & & o wer e 7
(E) nifd Ris § a1 i Maaa qo a0 SEm @

A e T feehed] # | WE 3T k1 =4 hifo ;

Options:

878270100697. 1
878270100698. 2
878270100699. 3

878270100700. 4

Question Number : 116 Question Id : 87827025516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
(A) Right view (I)  Outcome of right action
(B) Right Mental Resolve (II) The rational basis of Buddhism
(C) Right Livelihood (IlI) Counted among the paramitas
(D) Right Effort (IV) Foundation of achievements
Choose the correct answer from the options given below :

(1) (A0, (B)-(IV), (C)-(T), (D)-(M)
(2)  (A)-(IV), (B)-(IID), (C)-(), (D)-(I])
(3) (A1), (B)-V), (), (D)-{0)
(4)  (AHIY), (B)-(1D), (O-(I), (D)-(1)

Options:

878270100701. 1
878270100702. 2
878270100703. 3

878270100704. 4

Question Number : 116 Question Id : 87827025516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ell-1 9 Geit-11 &1 fie Sifse

( () H=I% FH A F

(B) =% Hahed (1) @1 99 1 gfg T HR
(C) TPIE NI (ITT) ORFAIST H T et
(D) H=I%k AEM (Iv) fafg 1 muR

T feu Tu fasmed | 9 W SO 1 999 Hifae

(1)  (A)-(D), B)-AV), [C)-D), (D)-(II)

(2) (A)-IV), (B )(IH) (©)-(), (D)-(II)

(3)  (A)-(D), (B)-(IV), (C)-(IIL), (D)-(I)

(4)  (A)-IV), (B)-(IIT), (CO)-(II), (D)-(I)

Options :

878270100701. 1
878270100702. 2
878270100703. 3

878270100704. 4

Question Number : 117 Question Id : 87827025517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Arupa Samapatti (I) Immaterial Trance
(B) Abhinna (II) The Noble Quest
(C) Akincanya (II) Nothingness
(D) Adityapariyesana (IV) Higher Knowledge

Choose the correct answer from the options given below :
(1) (A)-V), (B)-11), (O-[@), (D))

(2)  (A)-(I), (B)-(IV), (C)-(III), (D)-(I0)
(3)  (A)-0), B)-(I), (O, (D)-(IV)
(4)  (A)-1V), (B)-(11D), (O)-L), (D)-(D)
Options:

878270100705. 1
878270100706. 2
878270100707. 3
878270100708. 4

Question Number : 117 Question Id : 87827025517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 | Geit-11 %1 el i
qeit-1 geEli-11

(A) STEY FHMR Q) e gy
(B) AfY==n 1) A @Sl
(C) sifehs=r= (II1) HgfEEE
(D) effecd afEsq (IV) 3= M

() (A)-1V), (B)-(1LD), (O)-(D), (D)-(II)
(2)  (A)-(D), (B)}-(IV), (O-(), (D)-(II)
(3)  (A)-(D), (B)-(II), (O)-(I1I), (D)-(IV)
(4)  (A)-(IV), (B)-(II), (O)-1), (D)-(1)
Options:

878270100705. 1
878270100706. 2
878270100707. 3
878270100708. 4

Question Number : 118 Question Id : 87827025518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
(A) Vajracchedika Prajnaparamita Sutra () Diamond Sutra
(B) Prajiia Paramita Sutra (I) Heap of Jewel Sutra
(C) Ratna Kata Satra (II) Heart Sutra
(D) Prajiaparamita Hridaya Sitra (IV) Wisdom Sutra

Choose the correct answer from the options given below :
(1) (AHI), B, C-0, D}-IV)

(2)  (AHIV), B)-(1D), (©)-(D), (D)-{)
() (AHD, (B)-(IV), (CHID, (D)-(IT)
(4)  (AHD), (B)-(I), (O)-(I), (D}IV)

Options:

878270100709. 1
878270100710. 2
878270100711. 3

878270100712. 4

Question Number : 118 Question Id : 87827025518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eft-1 9 Get-11 1 el ifo :
Teil-1 et-11

(A)  FsresfeeR JRRiHG ¥ () SEHUE §A
(B)  WRTURFHAT I () &9 3% S g
(C) g () % g

(D) YRfAT %53 9 (IV) fasren 4=
19 fou TTu fashedi § 9 War SuT &1 997 FIfT ;

(1) (A)-1D), (B)-D), (©)-1), (D)}-(IV)

(2)  (A)-(IV), (B)(ID), (C)-(HI), (D)-I)

(3)  (A)-(I), (B)-(IV), (C)-(1I), (D)~(I)

(4)  (A)-(I), (B)-(IT), (O)-(III), (D)-(IV)

Options:

8782701007009. 1
878270100710. 2
878270100711. 3

878270100712. 4

Question Number : 119 Question Id : 87827025519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List - 1 List - I1

(A) Par§vanatha (I)  Utsarpini

(B) Hemachandra (I) Siddhartha

(C) Kalacakra (IIT) Pramanamimansa
(D) Mahavira (IV) Varanasi

Choose the correct answer from the options given below :
(1) (A)D), (B)-1), (O-IV), (D))

(2) (AL, B)1V), (O)-11), (D)-(I)
(3)  (A)-1), B)-@), (O)-(I), (D)}-(IV)
(4)  (A)-(V), (B)(I), (O)-[0), (D))

Options:

878270100713. 1
878270100714. 2
878270100715. 3

878270100716. 4

Question Number : 119 Question Id : 87827025519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 | Geit-11 %1 el i
qeit-1 geEli-11

(A) IS 1)  3cafgol
(B) THI= (1) fagrd
(C) hIcT=ish (IIT)  HTO-HIHIHT
(D) WeTER (IV) SIRIoTEHL

== fou U fashedl § 9 Wal STT &1 997 HifIT

(D) (A)-D), (B)-(), (O)-(1V), (D)-(L)
(2)  (A)-(1D), (B)-(IV), (O)-(), (D)-I)
(3)  (A)-(10), (B)-(I), (O)-(I), (D)-(IV)
(4)  (A)-(IV), (B)-(IM), (O)-I), (D)-(IT)
Options:

878270100713. 1
878270100714. 2
878270100715. 3

878270100716. 4

Question Number : 120 Question Id : 87827025520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
Jain Centres States name

(A) Mahavir Aradhana Kendra, Koba (I) Karnataka

(B) Jain, Vishva Bharati Institute, Ladnun (II) Bihar

(C) National Prakrit Research Institute,  (IlI) Gujrat
Shravanabelagola

(D) Ahimsa, Jainology and Prakrit (IV) Rajasthan
Research Institute, Vaishali

Choose the correct answer from the options given below :

(1) (A1), (B)-(V), (©-), (D}

() (A1), (B)-1V), (O-(), (D))

(3) (&), B)-{), (©)-(1V), (D)-O)

() (A-IV), (B)-(), (©)-(1), (D)-(I)

Options:

878270100717. 1

878270100718. 2

878270100719. 3

878270100720. 4

Question Number : 120 Question Id : 87827025520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o1 § Feit-11 1 et #ifse

(A) WRER A F, el () &eh
(B) S fargasedt HeomM, wre (M) feer
(C) Yrhd WY HEIM, Favreerie (1) [
(D) SAfEH ST TS Wikl Y HEH, A9l WIEEE
e e T foeredl # 9 TR I 1 T RIS ;

(1) (A, B)-(IV), (O-0), (D)}
(2) (A, (B)-(IV), (O-(), (D)-0)
(3) (A1), (B)-(I), (C-(IV), (D)-0)
(4)  (A-IV), (B)-I), (C)-(0), (D}-(I)
Options:

878270100717. 1

878270100718. 2

878270100719. 3

878270100720. 4

Question Number : 121 Question Id : 87827025521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
Principle’s name Types of Principles
(A) Elements (I)  Five
(B) Substance (I) Seven
(C) Mahavrata (III) Eight
(D) Karma (IV) Six

Choose the correct answer from the options given below :

(1) (A, (B)-(1), (O-1V), (D)-(I)
(2) (A, (B)-(1V), (O)-(1), (D)-(I)
(3) (A1), B)-(I), (O-(IV), (D))
(4) (A1), B)-AV), ©)-(D), (D))

Options :

878270100721. 1
878270100722. 2
878270100723. 3

878270100724. 4

Question Number : 121 Question Id : 87827025521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 | Geit-11 %1 el i

(A) d O =
(B) =A (I) &
(C) wered () 3T
(D) 4 (IV) =

(1) (f’i)-(m)r (B)-(1), (©)-(1V), (D)-(1)
(2)  (A)-(D), (B)-(IV), (O)-1), (D)-(I)
(3)  (A)-(10), (B)-(I), (O)-(1V), (D)-(I)
(4)  (A)-), (B)-AV), (O)-(D, (D)~(I1)
Options:

878270100721. 1
878270100722. 2
878270100723. 3

878270100724. 4

Question Number : 122 Question Id : 87827025522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II

Name of the Books Authors Name
(A) Social and Political Thought of Gandhi ()  Raghavan N. Iyer
(B) Mahatma Gandhi's Ideas ()  Nirmal Kumar Bose

(C) The Moral and Political Thought of (Il Jayantanuja Bandopadhyaya
Mahatma Gandhi

(D) My Days with Gandhi (IV) C. F Andrews

Choose the correct answer from the options given below :

(1) (A)-0), B-(L), (O, [DHLV)
(2) (A)), (B)-(HL), ©)-(1V), (D))
(3) (AT, (B)-{IV), (C)-(1), (D))
(&) (A1), (B)-0), (C-(I), (D))
Options:

878270100725. 1
878270100726. 2
878270100727. 3
878270100728. 4

Question Number : 122 Question Id : 87827025522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 4 -1 1 et hifefe ;
Telt-I Tel-II

TRl o 0 @i o AH
(A) TV g Hielifesa 9re 4 e () T T, IR
(B) W TS amEfeA 1) e Fom S
() feAna Ue uichifedal iz 6 Faen Mt (1) SRS SETeAm
(D) WE S fog e (V) 4.0 Ty
e fou T ool | § Wl I 1 99 FHio ;
(1) (A)-(D), (B)-(I), (O-(I), (D}IV)
(2) (A1), B, ©-IV), (D)-0)
(8)  (A)-(I), (BIHIV), (C)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(1), (C-II), (D)-(Im)
Options :

878270100725. 1
878270100726. 2
878270100727. 3

878270100728. 4

Question Number : 123 Question Id : 87827025523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - 1 List - 11
(A) Woman must not accept; she must () Jawaharlal Nehru
challenge. She must not beawed
by that which has been built up
around her; she must reverence that
woman in her which struggles for
expression
(B) You can tell the condition of a nation () Aung Sun Sun Kj
by looking at the status of its women
(C) Woman is the builder and moulder of () Margaret Sanger
nation’s destiny. Though delicate and
soft as lily, she has a heart, far stronger
and bolder than of a man she is supreme
inspiration of man’s onward march
(D) The education and empowerment of (IV) Rabindranath Tagore
women throughout the world cannot
fail to result in more caring, tolerate just
and peaceful life for all
Choose the correct answer from the options given below :
(1) (AM, BHD, O-V), (DA
AN, (BH1), (CHIV), (DHI
AM), B-II), (O, OHIV)
AM{IV), (B, (C-(), (D))

Options :

)
@ |
3
4

878270100729. 1
878270100730. 2
878270100731. 3

878270100732. 4

Question Number : 123 Question Id : 87827025523 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G-I 9§ Geil-11 &1 el ifs
il gal-II

(A) Hfeel % SR &l HE =M, H () EwRE 8E
AT <At e | 30 3o =R SR Ffia
=il | faferd T 2 = 36 34 &
1 A FHA AT foh Ik i Agen
vt & faw Fem Ll 21

(B) oy ferell T 0t Feufa want ieemedi () & g1
1 feelfd 1 3R SRl Fehd ¢ |

(C) it T i YRe Fmia 8 HER (IT) ATiE TR
Bt ¥ | 7Y 9% Ffe 1w Ha
#R g Bt € Nt 39k U 6
THEd S TeEd SR e @ 8
a8 Wfd & o folt qeu i o a5 Ja |

(D) fovasm ¥ wfgeneti st fren iR qymEdRw IVREESREI
1 yftor fafeed w9 9 vl o foe sifern
@Y, FETeie, =g SR wifaq shem
il

AT fou U ferehedi H § et 3T I T4 iU ;

(1) (A1), (B) (H) (O-(Iv), (D)1

(2)  (A)-(ID), (B)-(), (CH(IV), (D)-(I)

(3) (A)-(I), ()(HI) ©-(1), (D}-IV)

(4)  (A}(1V), (B)-(II), (C)-(m), (D)-0)

Options :

878270100729. 1

878270100730. 2



878270100731. 3

878270100732. 4

Question Number : 124 Question Id : 87827025524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II.

List - 1 List - II
(A) Bhoomiputra (I)  Khudai Khidmatgars
(B) Shanti Sena (II) Periodical
(C) Khan Abdul Ghaffar Khan () Dharasana Salt Works
(D) Sarojini Naidu (IV) Vinoba Bhave

Choose the correct answer from the options given below :
(1) (A}, BRI, (O, (D-IV)

(2) (A)-1L) (B )( V), (€(0), (D)

() (A)-ID, B, (O-IV), (DHI)

(4)  (AHIV), (B) (HI (Q)-(1), (D)0

Options :

878270100733. 1

878270100734 2

878270100735. 3

878270100736. 4

Question Number : 124 Question Id : 87827025524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



eft-1 9 Get-11 1 el ifo :
Teil-1 et-11

(A) T () G faeam
(B) wrifd HT () Tafys

(C) ©H A=A TFRR TH (II) ERAT TH
(D) WIS A1, (IV) ferfran e

A fou U fashedi H ¥ WEl 3T &l 994 HifoC

(1) (A)-(0), B)-1), (O, (D)}-(IV)

(2) (A1), B)-IV), (C}(1), (D)-(I)

(3) (A)-(ID), (B)-(1), (C-(1V), (D)-(II)

(4)  (A)-1V), (B)-(I1I), (C)-(I), (D)-(T)
Options :

878270100733. 1
878270100734. 2
878270100735. 3
878270100736. 4

Question Number : 125 Question Id : 87827025525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - II

Universal humanitarian approach
Sustainable peace leadership
Tibetan Buddhism
Interdependent

Choose the correct answer from the options given below :

()
(1)
)

List -1
(A) Nagarjuna I)
(B) Dalai Lama (IT)
(C) Non-duality (II)
(D) Positive Peace (IV)
(1) (AHD, (B)-(I), (O, (DRIV)
(2)  (AHD, (B)-(I), (CHIV), (D
(3)  (A)), (B)(1), (O-{1V), (D
(4) (AU, B)-LV), (O)-(D), (D)}
Options:

878270100737. 1
878270100738. 2
878270100739. 3

878270100740. 4

Question Number : 125 Question Id : 87827025525 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



( () iR FRadERE gl
(B) <@ @M (I) <remifereh wiifd &g "9

(C) #HgaamR (1) foesd =1 Sgar

(D) HHHIHF wifd (IV) 3t 31i5d

< fou U forehedl # & el $Y 1 F9 HifC

(1) (A1), (B)-(I), (O-(ID), (D)-(IV)

(2) (A1), (B)-), (C-(IV), (D)-(I)

(3) (A, (B)-(I), (C-(IV), (D)-(II)

(4)  (A)-(I), (B)-(IV), (O)-(I), (D)-(0)

Options :

878270100737. 1
878270100738. 2
878270100739. 3

878270100740. 4

Question Number : 126 Question Id : 87827025526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following personalities in chronological order in terms of their year of Birth (from [*
to last)

(A) Kripiarapa Mahathera
(B) Rahula Sankityayana
(C) Ananda Kausalyayana
(

(

D) Bhikkhu Jagdish Kashyapa
E) Ven Dr. Dharmarakshita
Choose the correct answer from the options given below :

(1) () (D) () (C), (&)

(2 (A) ®) €. O) {
(3) (&) (8) (©) ), (D)
(4) (O B) (), € (&)
Options :

878270100741. 1
878270100742. 2
878270100743. 3

878270100744. 4

Question Number : 126 Question Id : 87827025526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fed T sferi 1 T S T o ISR el § MGl d wHeG e
(A) IR HEL

(B) TEA HIFAH

(C) 3= PRI

(D) foerg iy oAy

(E) &=l . e

i feu U fgehedl § § WE I B 99 T ;
(1) (E). (D), (B), ©) (A)

(2) (A), (B), (C) (D), (E)

(3) (A), (B), (C) (E) (D)

(4) (D), (B), B), (©), (A)
Options :

878270100741. 1
878270100742. 2
878270100743. 3

878270100744. 4

Question Number : 127 Question Id : 87827025527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following event in the chronological order of their happening from later to earlier

(A) Theravada Buddhism established in Myanmar

(B) Conversion of King Anawratha of Pagan (Burma) by Shin Arhan

(C) Khamer Kings build Angkor Wat, the world's largest religious monument

(D) Fifth Buddhist Council in Burma (Myanmar)

(E) Construction of Potala Palace, Jokhang and Ramoche temples to house Buddha images
Choose the correct answer from the options given below :

0 () (B)f (€, O) (E)

2 0]

B (©, (A)f (8). O) ( )
4 0@, 6) € 6
Options:
878270100745. 1
878270100746. 2

878270100747. 3

878270100748. 4

Question Number : 127 Question Id : 87827025527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frafafad semat & FaEd ¥ 95 9 T80l & w1 H afeyd & |
) TR A a4 e

(A)
(B) T (M) < el o e g TSl SR 1 ¢ Ufer

(C) TH TTIST G SRR il FHiw i1 fof forvel o1 qard) a1y it S
(D) Wi H v aig

(E) TNl Hew -8 3R T whet A g i W o fore fFmi

e feu o fommedi © 9 Wl I S T Hifew
(1) (A), (B), (©), (D), (E)
(2) (B) (Q), (D), (E) (A)
(3) (), (A), B), D) (A)
(4) (D) (A), B), ©), (E)

Options:

878270100745. 1
878270100746. 2
878270100747.3

878270100748. 4

Question Number : 128 Question Id : 87827025528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the followings in the chronological order of their happening from later to earlier :
A) Introduction of Buddhism in Bhutan

B) Sending Mahendra and Sanghmitra to Ceylon by Ashoka

D) Composition of Lankivatira Sutra
E) Establishment of Zen Buddhism in Japan

Choose the correct answer from the options given below :
(1) (D) @A), ) ®) E

(
(
(C) Dharmachakrapravartana at Sarnath
(
(

(2) (B), (4), (O (8), (€
() (B), (4) (©) (D), )
&) (&), (8), (©) (D), &)
Options:

878270100749. 1
878270100750. 2
878270100751. 3

878270100752. 4

Question Number : 128 Question Id : 87827025528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feferfian =1t 1 ek et o SFER °18 § Tgel & HH H e i ;
(A) R ¥ aig ¥H 1 o

(B) S 5T Wes, WEfN a1 HiclH (TeH1) S

(C) FRAY | YHRYeH

(D) TRIEAR G &

() M § 5 a4 &1 T

1<l feu T foehedl H ¥ et ST B 997 Al ;

(1) (D) (A) €), B), E)

(2) (E) (A) (D), (B), (C)
(3) (B) (A) (©), D), E)
( ) )

)
) D)
1) (A), (B) (©) (D) E

r \D)s
, (D) (
(D)
Options:
878270100749. 1
878270100750. 2
878270100751. 3

878270100752. 4

Question Number : 129 Question Id : 87827025529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following statements in chronological order earlier to later :
A) Lord Paravantha obtained salvation on Sammeda-Shikhar

B) Lunavasahi Jain temple constructed in Mount Abu

(
(
(C) Devardhigani Ksamasramana was Chairman in the Valbhiagamavichana
(D) Acirya Yashovijay is author of the Jain Tarkbhasa

(

E) Lord Mahavira obtained the ‘Kevalajiana” on the bank of Rjukali river

Choose the correct answer from the options given below :

(D) () D), ®) @A) ©

(2 (©) (8 (4), D) E)
() (A), (&) (©), B) (D)
(4) () (C), (D), (), (A)
Options:

878270100753. 1
878270100754. 2
878270100755. 3

878270100756. 4

Question Number : 129 Question Id : 87827025529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafEad wuAl 1 FTAFITER TR § T SHafedd hifo
(A)  STET g o FETE fare W e g foRe o

(B) W= g H quereal S Hfct i v g §

(C) <afgufu &rIgwy aets] STTH ar=1 & 1244 9|

(D) 3T TSNSt S ek T o @ € |

(E) YA el A FHspehell 76l o ¢ W haerar e & |
= feu Tu faehedl § § Wel 3% o1 =4 hIfST :

Options:

878270100753. 1
878270100754. 2
878270100755. 3

878270100756. 4

Question Number : 130 Question Id : 87827025530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the sequence of Karma from ghati to aghati :
A) Gotra

B) Dar§anavarana

D) Nama
E) Mohaniya

Choose the correct answer from the options given below :

(
(
(C) Jhanavarana
(
(

(1) (O, (B), (E), (D), (A)
(2) Q) (4) (B) (B) (D)
(3) (B), (D), (E), (4), (C)
(4)  (B), (O, (B), (D), (A)
Options:

878270100757. 1
878270100758. 2
878270100759. 3

878270100760. 4

Question Number : 130 Question Id : 87827025530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wifa 9 s7enfa &l & %9 | sHafead &1 :

(A)
(B)  EIHTey
(C) ST
(D) =M
(E) HIe™

== fou e fasredi © 9 W& 39 1 FHH HifI

(1) (©), (B), (E), (D), (A)
(2)  (©), (A), (B), (E), (D)
(3)  (B), (D), (E), (A), (C)
(4)  (B), (©), (E), (D), (A)
Options:

878270100757. 1
878270100758. 2
878270100759. 3

878270100760. 4

Question Number : 131 Question Id : 87827025531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Jain centres in the order from Southern to Northern India :
A) Jaisalmer

(

(B) Shravanabelagola

(C) Delhi

(D) Koba

(E) Jodhpur

Choose the correct answer from the options given below :

(1) () &) ©O)©) A)

2 (© D), ) B) @)
(3) (), (D) (), (4) (O
(@) (8), (D) @A) ©) &
Options:

878270100761. 1
878270100762. 2
878270100763. 3
878270100764. 4

Question Number : 131 Question Id : 87827025531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e oM gl 1 SfeTor ¥ W 9RA % %Y T SFafd Hifa ;

(A) STHeH

(B)  FEUTEHIEl

(C) et

(D) hial

() &R

= fou T fomedl § 9 WE SW 1 997 Hif
(1)  (B), (E), (D), (©), (A)
(2) (), (D), (E), (B), (A)
(3)  (B), (D), (E), (A), (C)
(4) (B), (D), (A), (©), (E)
Options :

878270100761. 1
878270100762. 2
878270100763. 3
878270100764. 4

Question Number : 132 Question Id : 87827025532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events in a chronological order from earlier to later :
A) Founded Natal Indian Congress

B) Founded Phoenix Settlement

D) Founded Satyagraha Ashram
E) Wardha Scheme of Education
Choose the correct answer from the options given below :

1) (4 ®) © O) E)

(
(
(C) Founded Sevagram Ashram
(
(

2) (A) (B), (D), (©), ()
(3) () (A) D) E) (©
(@) (©), (B), (A) ), D)
Options:

878270100765. 1
878270100766. 2
878270100767. 3

878270100768. 4

Question Number : 132 Question Id : 87827025532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TrefafEd =ea1sii &1 9gel ¥ 918 % HICHhHTIR oy
(A) WA T ShiTE Rl IOl

(B) frf-er Twgiar

(C) HATUH 37154 hl TATIA]

(D) HAWE HAFH hi TGl

(E) =i foren Arsn

== feu TTu fashedl § 9 Wel 3T 1 9499 Hif9T

(1) (A), (B), (©), (D), (E)
(2) (A), (B), (D), (O), (B)
(3)  (B), (A), (D), (E), (©)
(4) (O (B), (A), (E), (D)
Options:

878270100765. 1
878270100766. 2
878270100767. 3
878270100768. 4

Question Number : 133 Question Id : 87827025533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events in a chronological order from later to earliest :
A)  Anglo-Boer War

(

(B) Dutch East India Company

(C)  Zullu Rebellion

(D) Morley Minto Reforms

(E) Green Revolt

Choose the correct answer from the options given below :

(1) (A) ®) (©) D) ()

2) (B), (A) D), ©), (E)
(3) @) (©) A) E) B)
(@) (A4)©, O E) B)
Options:

878270100769. 1
878270100770. 2
878270100771. 3

878270100772. 4

Question Number : 133 Question Id : 87827025533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad seTet 1 98 9 999 T8d & FHAdhAER T

(A) TSR TG

(B) =9 3R 3fed Al
(C) e fomre

(D) WM - fH guR

() ¥ fomre

A= feu Tt faseul 9 9 WE I 1 9949 FifS
(1) (A), (B), (O), (D), (E)
(2) (B), (A) (D), (©), (E)
(3) (D) (©), (A), (E), (B)
4) (A), (O, (D), (E), (B)
Options :

878270100769. 1
878270100770. 2
878270100771. 3

878270100772. 4

Question Number : 134 Question Id : 87827025534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in a chronological order of their happening (from first to last)
A) Kheda Satyagraha

(
(B) Salt Satyagraha

(C) Champaran movement

(D) Bardoli Satyagraha

(E) Ahmedabad Mill Strike

Choose the correct answer from the options given below :

1) ()6 © O E)

() (B) (E), (D), (&), ()
(3) () (A), (), (D), B)
(@) (A) (D) (B), C) )
Options:

878270100773. 1
878270100774. 2
878270100775. 3

878270100776. 4

Question Number : 134 Question Id : 87827025534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frrferfad ol 37 Bfed B (Wed veal § ifaw) & %0 H Feshuar e ;
A) G AR

Options:

878270100773. 1
878270100774. 2
878270100775. 3
878270100776. 4

Question Number : 135 Question Id : 87827025535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in a chronological order of their happening (from first to last)
A) Korean War

(
(B) Hiroshima bombing

(C) Pearl Harbour bombing

(D) Vietnam war

(E) Nagasaki bombing

Choose the correct answer from the options given below :

1) ()6 © O E)

2 (®) () [0) @A) ©
(3) (© (A), (D), (B), ()
(4) () (C) B) [E) (&)
Options:

878270100777. 1
878270100778. 2
878270100779. 3

878270100780. 4

Question Number : 135 Question Id : 87827025535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i o1 afed T o HeBRHITaR Safe i (YoM § Sifdd ®i & sed §u)

= fou 70 femedl | | Wt IR 1 79 R
(1) (A), (B) (), (D), (E)
(2) (B) (E) (D), (A), (©)
(3) () (A), (D), B), (E)
(4) (D) (C) (B) (E), (A)

Options:

)
)
)
)

878270100777. 1
878270100778. 2
878270100779. 3

878270100780. 4

Question Number : 136 Question Id : 87827025536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Lankivatira Sutra exhibits the yogacira thoughts of Buddhist tradition

Reason (R) :  According to Tikisaki Jikido, the Lankivatira Sutra is as often said, merely a
mosaic collection of small parts put at random within the frame of a Sutra

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A} s not correct but (R) is correct

Options:

878270100781. 1
878270100782. 2
878270100783. 3
878270100784. 4

Question Number : 136 Question Id : 87827025536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o 2o fen T v afveme (A) % %9 A e € 1 0 S o (R) F EOE 2

VRO (A): TR 3 T, o o T, I o e ) e o €

FANR): R SR o SR o S R o) T €, e 9 - g e
AW GEHE NI ERmmL

TR o o S, 7 R et % W S R o

(1) 3R (A) &R (R) 7 2 4 (R), (A) 91 54 = €

() 3 () R (R) T & AR ), (A) ) o T R

() (A)FW T ol (R) 59 ¢

(4)  (A) 07 ¢, Cife (R) T §

Options :

878270100781. 1

878270100782. 2

878270100783. 3
878270100784. 4

Question Number : 137 Question Id : 87827025537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Itis believed in Jainism that this world is created by God
Reason (R) :  Every person is responsible himself for getting the fruitof his good or bad activities

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
(

4) - (A) is not correct but (R) is correct



Options :

878270100785. 1
878270100786. 2
878270100787. 3
878270100788. 4

Question Number : 137 Question Id : 87827025537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

19 € e feu T € < e PR (A) 3 9 feife & o 0 S O (R) F WA
AT (A): O 39 o T fovar 0 ¢ o 50 Wom & gfie g #l g
FWAR): O 0 G H & T S TR oA 9 ¢

TR o T oA 5, 79 fou T fomet A A W S T #if

(1) @ (A) 3R (R) 5 & &0 (R), (A) %I %) =70 @

(2) T (A) 4R (R) TR & O (R), (A) ) TR o T €
(3) (A)F 2, T (R) 59 §

(4) (A) 0 & i (R) 909 €

Options :

878270100785. 1

878270100786. 2

878270100787. 3

878270100788. 4

Question Number : 138 Question Id : 87827025538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Kevaljfiina s supreme and complete knowledge in Jainism

Statement (1) : Help of sense and mind is Srutajfiana is not required as it is required in Matijiana

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 1 s correct but Statement II is incorrect
(4) Statement Iis incorrect but Statement I is correct

Options:

878270100789. 1
878270100790. 2
878270100791. 3

878270100792. 4

Question Number : 138 Question Id : 87827025538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

®I (1) : S ¥ H herar 9% 6 0 9 §

HA (I1) : e i e Ja ° 3 3K 09 i ger shfE TE §
I HY % A ¥, 7 fou M faemed § ¥ Wl S 9 i

(1) HIT1IR FU 1 T €

(2) HATI AR FOF IS 9 &
(3) M T &, lehd HYF 11 379 &
(4) HUTI FHA 2, olfehl I [1 A &
Options :

878270100789. 1



878270100790. 2
878270100791. 3

878270100792. 4

Question Number : 139 Question Id : 87827025539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () : He who lives by the sword shall perish by the sword

Statement (I1) : The greatest exponents of non-violence the most powerful opponents of the cult
of the sword have died as a result of the sword succeeding over the principle of
ahima

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

)
3)  Statement I is correct but Statement IT is incorrect
4

(2) Both Statement I and Statement II are incorrect

(

(4)  Statement I is incorrect but Statement II is correct
Options :

878270100793. 1

878270100794. 2

878270100795. 3

878270100796. 4

Question Number : 139 Question Id : 87827025539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100793. 1
878270100794. 2
878270100795. 3

878270100796. 4

Question Number : 140 Question Id : 87827025540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement (1) : The concept of a culture of peace emerged from the International congress on
peace in the Minds of Men, organized by the UNESCO

Statement (1) : A culture of peace is an integral approach to preventing violence and violent
conflicts

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(
3
4

) Both Statement I and Statement II are incorrect
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct



Options :

878270100797. 1
878270100798. 2
878270100799. 3
878270100800. 4

Question Number : 140 Question Id : 87827025540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4 ) F foU T E

HOA () : Vil & Sl B e el g Ao SR i e § A 6 7 6 S
&l

9 (11) : 1T 1 Sl 0 i 3w & o e e e ) 0 O 1 9 2

U 9 o e §, e 90 T fomedt 4 W I T i

(1) B SR T ¢

() BRI w11 S o

(3) ORI ¢, oot FHo 11 99 ¢

(4) O 3 ¢, T R 11 T

Options:

878270100797. 1
878270100798. 2
878270100799. 3

878270100800. 4

Sub-Section Number : 2
Sub-Section Id : 8782701111
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827025541 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the given passage carefully and answer questions that follow :

Where as Jainism has prescribed a three-way path comprising right vision, right knowledge
and right knowledge and right conduct called Ratnatraya (Tri-gem), itis also paved the way for spiritual
practice by explaiming the ning fundamentals; 1. The living; 2. The non-living; 3. Karmic influy; 4. Piety;
0. Sin; 6. Karmic bondage; 7. Karmic stoppage; 8. Karmic Shedding and 9, Liberation, These two are
supplementary to each other. The way of spiritual practice s the way of spiritual development of the
living being, Jainism explained that the Karmic encumbrance hinders the spiritual progress of living
being. As a person carries the load on his shoulder, so a living being carries the load of Karmas on his
shoulders of passions, when the mind, body and speech act with passions like anger, pride, deceit and
greed, they incur Karmic influx and bondage in the same way as a boat with holes in its bottom collects
and accumulates water. As a person that exercises after massaging ol on hig body collects dust, so the
passionate activities result in influx and bondage Karmas.

Sub questions

Question Number : 141 Question Id : 87827025542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

This is said to the right vision-knowledge-conduct in the above passage :
(1) Trimarga

(2) Sansaracakra

(3) Ratnatraya

(4) Karma-samiha
Options :

878270100801. 1
878270100802. 2
878270100803. 3

878270100804. 4



Question Number : 142 Question Id : 87827025543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of the Fundamentals in the above passage is :
(I) Seven

(2) Five

(3) Three

(4) Nine
Options :

878270100805. 1
878270100806. 2
878270100807. 3
878270100808. 4

Question Number : 143 Question Id : 87827025544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It is said to the Spiritual practice, in the above passage :
(1) Spiritual development of the living being

(2) Yoga posture

(3) Knowledge of substances

(4) Group of the Cannons

Options :

878270100809. 1
878270100810. 2
878270100811. 3

878270100812. 4



Question Number : 144 Question Id : 87827025545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the above passage who carries the load of his karmas indicated by the :
(1) Non-living being

2
(3
(4

) Living being
) Monks
) Householders

Options :

878270100813. 1
878270100814. 2
878270100815. 3

878270100816. 4

Question Number : 145 Question Id : 87827025546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the above passage the result of the passionate activities is :
(1) Karmic stopage and Shedding

(2) Piety and Happiness

(3) Release of Karmas

(4) Influx and bondage of Karmas

Options :

878270100817. 1
878270100818. 2
878270100819. 3

878270100820. 4

Question Id : 87827025541 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827025542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TR H GREERH 1 1 1 T8 e T T

(1) fomm

(2) HHREH
(3) Tord

(4) FH-EE
Options :

878270100801. 1
878270100802. 2
878270100803. 3

878270100804. 4



Question Number : 142 Question Id : 87827025543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WWﬁHﬁﬁa—ﬁﬂ@T%:
(1) 9w

(2)

(3) o

(4)

Options:

878270100805. 1
878270100806. 2
878270100807. 3

878270100808. 4

Question Number : 143 Question Id : 87827025544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T TS H ST I FHE TAE
(1) Sira-faerrg =1 e

(2) AN

(3) =AM

(4) SIFH HH8
Options :

8782701008009. 1
878270100810. 2
878270100811. 3

878270100812. 4



Question Number : 144 Question Id : 87827025545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR TE o SR S0 FH1 o ag i g a1l o ot 78 We TgE ¢
(1) i

(2)
(3) W
(4) ¥
Options :

878270100813. 1
878270100814. 2
878270100815. 3

878270100816. 4

Question Number : 145 Question Id : 87827025546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

TRIA T % SFER FUE-Hied hanst § 78 9o g g
(1) Hex 3R fsia

(2) YA UE @

(3) HHl ¥ g

(4) Ed Td Y
Options :

878270100817. 1
878270100818. 2

878270100819. 3



878270100820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701112
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025547 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following passage carefully and answer the questions based on it :

In the 20th Century, Mahatma Gandhi and Albert Einstein, both dedicated apostles of peace,
made significant contributions to the debate on a world government versus a federation of nations.
Einstein, like Dante, proposed a world government, Gandhi, like Emeric Cruce, Saint-Pierre and Kant,
advocated a federation of states. The former changed our understanding of the universe, while the latter
was the torch bearer of India’s freedom movement. Although these stalwarts knew of each other, they
lived on different continents and never met.

Gandhi was influenced by Leo Tolstoy’s ideas, which in turn were inspired by Adin Ballou’s
non-violent resistance are non-resistance. Tolstoy believed in non-violence and renunciation of enmity
with everyone. Gandhi practiced non-violence while leading India’s freedom movement and adopted it
as a strategy for societal transformation. On one occasion, when the freedom fighters set a police station
of the British rulers on fire, thereby breaking the code of non-violence and civil disobedience which can
together be described as non-violent resistance. He went on to inspire many leaders around the world,
particularly Dr. Martin Luther King, Jr of the US, The thinkers Gandhi was inspired by, and the leaders
who followed him refrained from indulging in violence in their struggle against repression and injustice,
Moreover, Gandhi also articulated profound views on how the world order should be structured on the
principles of non-violence through a world federation of nations.

Speaking at a public meeting in Rangoon on 9 March 1929, and then in writing in Young India on
4 April 1929, Gandhi Proclaimed :

My mission is not merely freedom of India, though today it undoubtedly engrosses practically
the whole of my life and the whole of my time. But through relization of freedom of India, I hope to
carry on the mission of the brotherhood of man. My patriotism is not an exclusive thing. It is all-
embracing and I should reject that patriotism which sought to mount upon the dishes on the exploitation
of other nationalities.

In“All Men Are Brothers”, a UNESCO Publication on Gandhian thoughts, in his own words,
we find the following :

[ do suggest that the doctrine (of non-violence) holds good also as between states and states. It was
a war of aggrandizement, as I have understood, on either part. It was a war for dividing the spoils of the
exploitation of weaker races - otherwise euphemistically called the world commerce... It would be
found that before general disarmament in Europe commences, as it must some day, unless Europe is to
commit suicide, some nation will have to dare to disarm herself and take large risks. The level of non-
violence is that nation, will come to pass, will naturally have risen so high as to command universal
respect. Her judgement will be erring, her decisions firm, her capacity for heroic self-sacrifice will be
great, and she will want to live as much for other nations as for herself.

Gandhi's concept of non-violence envisaged encompassing the whole world. He was a
nationalist and internationalist at the same time and imagined a world federation that would combine
national interests with global good.

Sub questions

Question Number : 146 Question Id : 87827025548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gandhi proclaimed about the mission of the brotherhood of man in :
(1) South Africa

(2) London

(3) India

(4) Rangoon
Options:

878270100821. 1
878270100822. 2
878270100823. 3

878270100824. 4

Question Number : 147 Question Id : 87827025549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Leo Tolstoy believed in the concept(s) of :
(1) Non-violent resistance
(2) Colonization
(3) Violent societal transformation
)

(4) Neutrality
Options :
878270100825. 1
878270100826. 2
878270100827. 3

878270100828. 4

Question Number : 148 Question Id : 87827025550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Mahatma Gandhi and Albert Einstein made significant contributions to :
(1) Imperialism

(2) Debate on world government versus a federation of nations
(3) Breaking the code of non-violence
(4) Strategy for societal uniformity

Options:

878270100829. 1

878270100830. 2

878270100831. 3

878270100832. 4

Question Number : 149 Question Id : 87827025551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The work “All Men Are Brothers” was published by :
(1) Harper and Collins

(2) UNESCO

(3) Routledge

(4) Palgrave

Options :

878270100833. 1

878270100834. 2

878270100835. 3

878270100836. 4

Question Number : 150 Question Id : 87827025552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gandhi practised non-violence and adopted it as a strategy for :
(1) World commerce

(2) Freedom movement
(3) Societal transformation
(4) Disobedience

Options:

878270100837. 1

878270100838. 2

878270100839. 3

878270100840. 4

Question Id : 87827025547 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827025548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el 3 AFE WEER & Y % IR H I8 SEm 6

(1) =feror sTRie
(2) W
(3) ¥4
(4) T
Options :

878270100821. 1
878270100822. 2
878270100823. 3
878270100824. 4

Question Number : 147 Question Id : 87827025549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foa efeeeta fefafea sauron § favam w@d 9 .

(1) AfEesw gfaiy
(2) Ui
(3) fEue "mifSe seaE
(4) TafsRza
Options :

878270100825. 1
878270100826. 2
878270100827. 3

878270100828. 4

Question Number : 148 Question Id : 87827025550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270100829. 1

878270100830. 2

878270100831. 3

878270100832. 4

Question Number : 149 Question Id : 87827025551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘31fet A AR S’ Fid 3Heh g WHIAG hl TR

(1) BIYY TUE whifeH
(2) IR
(3) ®ZoIs
(4) RIS
Options :

878270100833. 1
878270100834. 2
878270100835. 3

878270100836. 4

Question Number : 150 Question Id : 87827025552 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100837. 1
878270100838. 2
878270100839. 3
878270100840. 4



